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Question Number : 1 Question Id : 9679471617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that most closely resembles the water image of the given figure.

Options :



¥
> v @
* @
BiC

Question Number : 1 Question Id : 9679471617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 2 Question Id : 9679471618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in figures X,
Y and Z. Select the figure (from 1, 2, 3 and 4) that most closely resembles the unfolded form of figure Z.

X
R R k| [l
b o R R| |

1 2 3 4
Options :
1. %3
2. %2
3.¢¥ 1
4. % 4

LT

Question Number : 2 Question Id : 9679471618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1 2 3 4
Options :
1. %3
2. %2
3.¢¥ 1
4. % 4

Question Number : 3 Question Id : 9679471619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three positions of the same dice are given. What will be the letter on the face opposite to the face having letter F?

B F A

D D C

C B

Options :
1. % A



2.% B
3.C
4. % E

Question Number : 3 Question Id : 9679471619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % A
2.% B
3.¢C
4. % E

Question Number : 4 Question Id : 9679471620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the CORRECT mirror image from the following options, when the mirror is placed on the line AB.
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Options :
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Question Number : 4 Question Id : 9679471620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



Question Number : 5 Question Id : 9679471621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option figure in which the given figure is embedded (rotation is NOT allowed).

A/

Options :

2. ¥

LH®



Question Number : 5 Question Id : 9679471621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




Question Number : 6 Question Id : 9679471622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At an annual day sports meet in a school, 9 students took part in a race competition. They were all made to stand in a straight line. Shalini was
standing 6! from the right end, and there were 4 students standing between Shalini and Riya. Based on this arrangement, what is the position of
Riya from the left end of the line?

Options :

1. %6

2.% 2

3.% 8

4. ¥ 9

Question Number : 6 Question Id : 9679471622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. * 6
2. %2
3.% 8
4. ¥ 9

Question Number : 7 Question Id : 9679471623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
This question is based on the following words.

ROCK LOCK HOOK ROAD

If the last letter of each word is replaced with the first letter of that word, which of the following will remain a meaningful English word?
Options :

1. ® Lock

2. ¥ Road

3. % Hook

4. % Rock

Question Number : 7 Question Id : 9679471623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. * Lock
2. ¥ Road
3. * Hook
4. % Rock



Question Number : 8 Question Id : 9679471624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing to a girl in a car, a man tells his friend, “She is the daughter of the only son of my father’s wife”. How is the girl related to the man?
Options :

1. ® Sister

2. % Daughter

3. % Aunt

4. ® Mother

Question Number : 8 Question Id : 9679471624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g8

2. ¢ &

3. % )

4. % AT

Question Number : 9 Question Id : 9679471625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure from among the given options that can replace the question mark (?) in the following series.
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Options :
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Question Number : 9 Question Id : 9679471625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 10 Question Id : 9679471626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While facing north, a cat spots a mouse in the east and runs towards it. While chasing the mouse, it takes a right turn and then turns left. Then, it
takes two consecutive right turns. In which direction is the cat chasing the mouse now?

Options :
1. # North
2. ® East
3. % South
4. ¥ West

Question Number : 10 Question Id : 9679471626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3R

2. % gd

3. % fgor

4. ¥ Uigq

Question Number : 11 Question Id : 9679471627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘A + B’ means ‘A is the mother of B’, ‘A — B’ means ‘A is the brother of B’, ‘A +~ B’ means ‘A is the father of B’.
Based on this information, how is P related to Tif ‘ P+ Q—-R +S-T"?

Options :

1. ¥ Father’s mother
2. # Father’s brother
3. % Mother’s mother



4. % Father’s sister

Question Number : 11 Question Id : 9679471627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ fUar & |rdn

2. % fUaT o U8

3. % Hral &t  ral

4. % fUqr &t 984

Question Number : 12 Question Id : 9679471628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A teacher instructs 40 students of a class to stand in a queue for going to the school assembly. Vipul is standing 4t from the start of the queue,
while Karan is standing 5t from the end of the queue. How many students are standing between Vipul and Karan?

Options :

1. = 34

2. % 30

3.% 32

4. ¥ 31

Question Number : 12 Question Id : 9679471628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 34

2. % 30



3. %32
4.+ 31

Question Number : 13 Question Id : 9679471629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given statement is followed by two conclusions, numbered I and II. Decide which of the given conclusions is/are TRUE based on the given
statement.

Statement:
M>I>T=H<E<N
Conclusions:

I. M>H

II. T<N

Options :

1. # Only conclusion I

2. % Onlyconclusion II

3. % Both conclusions I and II

4. % Neither conclusion I nor II

Question Number : 13 Question Id : 9679471629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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I. M>H

II. T<N

Options :

1. % PHad py |
2. % Had sy 11
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4. % A fsEY 1 IRAT I

Question Number : 14 Question Id : 9679471630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Refer to the given letter, number, symbol string and answer the following question.

AH@S5P%D8M=7B§6£9F+2PS3T#E8G*Knp

Which of the following numbers is exactly midway of only numbers falling between @ and #?
Options :

1.¥6

2.%9

3.% 7

4. % 2

Question Number : 14 Question Id : 9679471630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥6

2.%9

3. %7

4. %2

Question Number : 15 Question Id : 9679471631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which number given in the options is most like the given set of numbers?

(2,7,19,31)
Options :

1. % 33

2. % 36

3. % 39
4.9 43

Question Number : 15 Question Id : 9679471631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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(2,7,19,31)
Options :

1. % 33

2. % 36

3. % 39
4,9 43

Question Number : 16 Question Id : 9679471632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the word STUDY is coded as 89 in a particular coding language, then how will the word PLAY be coded in the same code language?
Options :

1. % 45

2. % 69

3. % 50

4. 54

Question Number : 16 Question Id : 9679471632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

g7 faret faRIv e T & STUDY T1eg &1 89 & ® 0 H Heag (a1 offdl g, Al PLAY eG ®I S FHoe U H [ UHR I FHedx [hal
SfTaIT?

Options :

1. ®% 45

2. % 69

3. % 50

4, ¥ 54

Question Number : 17 Question Id : 9679471633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anita and Desai are cousins. Arun is the father of Anita. Sumit is the brother of Desai. Suchit is the son of Arun. How is Suchit related to Sumit?
Options :

1. # Brother

2. # Uncle

3. # Nephew

4. ¥ Cousin

Question Number : 17 Question Id : 9679471633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % U

2. % AT/ /Y A1 / AR

3. % YIS YisT

4.« TR/ ARRY FERT [GUHRT HTS

Question Number : 18 Question Id : 9679471634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Four words have been given, out of which three are alike in some manner and one is different. Select the odd one.
Options :

1. # Banana

2. % Spinach

3. % Grapes

4. % Apple

Question Number : 18 Question Id : 9679471634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 TR Teg T MU ], 370 T o Weg 3y # Bt 7 {5l ypR T guH §, Saf U Wes fe g 1 FH Xeq T T B |
Options :

1. % &l

2. ¥ Ul

3. % 3R

4. % Ug

Question Number : 19 Question Id : 9679471635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the given pattern carefully and select the number that can replace the question mark (?) in it.

48



Options :
1. % 34
2. % 36
3.9 38
4. % 40

Question Number : 19 Question Id : 9679471635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 717 e @ ueTEE T H{ AR 3H FEA H TS H] A SEA 60 T weA e (2)
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Options :
1. % 34
2. % 36
3.9 38
4. % 40

Question Number : 20 Question Id : 9679471636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Without assuming anything beyond the information given below, select the correct nature of the relationship between the two events A and B.



Event A: My school has made it mandatory for girls to wear a red hair band to school.
Event B: [ will be wearing only red hair bands to school from now on.

Options :

1. #® Event A is the effect and Event B is its immediate and principal cause.

2. ¥ Event B is the effect and Event A is its immediate and principal cause.

3. # Event A is the effect but Event B is not its immediate and principal cause.

4. % EBvent B is the effect but Event A is not its immediate and principal cause.

Question Number : 20 Question Id : 9679471636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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General Awareness

Group Number : 2

Group Id : 96794782
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



General Awareness

Section Id : 96794782
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794798
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9679471637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which first manned ocean mission did India launched to join the elite club of six nations exploring underwater vehicles for carrying out subsea
activities in October 20217

Options :

1. # Mokshayan
2. % Pushpayan
3. # Indrayaan

4. ¥ Samudrayan

Question Number : 21 Question Id : 9679471637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % TeaH
2. % g
3. % g9
4.« JHAH

Question Number : 22 Question Id : 9679471638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the range of the Long Range Bomb which was designed and developed by Defence Research and Development Organisation Research
Centre Imarat (RCI) which can carry a warhead of 1000 kilograms?

Options :

1. % 100 km
2. % 150 km
3. % 200 km
4. % 250 km

Question Number : 22 Question Id : 9679471638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 100 km

2. % 150 km

3. % 200 km

4, % 250 km

Question Number : 23 Question Id : 9679471639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of which criterion, the Union Ministry of Civil Aviation declared Srinagar airport as a “major airport” in November 2021 under the
Airports Economic Regulatory Authority Act, 2008 (AERA?)



Options :

1. ¥ As the annual traffic crossed 35 lakh
2. # As the annual traffic crossed 45 lakh
3. # As the annual traffic crossed 55 lakh
4. # As the annual traffic crossed 65 lakh

Question Number : 23 Question Id : 9679471639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. 35

2. % 45

3. % 55

4. % 65

Question Number : 24 Question Id : 9679471640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Government of which country released a special commemorative coin to honour Mahatma Gandhi's life and legacy in November, 20217
Options :

1. ¥ United Kingdom

2. % Unied States of America

3. % Australia

4. % Germany

Question Number : 24 Question Id : 9679471640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. ¢ gA3cs fhireH
2. % Tgad I SR
3. ® 3fiReferan

4. % S

Question Number : 25 Question Id : 9679471641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which former India pacer has been appointed as the Chief selector of the national men’s cricket team by Cricket Advisory Committee in
December 20207

Options :

1. ¥ Harbhajan Singh
2. ¥ Chetan Sharma
3. ¥ Anil Kumble

4. ®* R Ashwin

Question Number : 25 Question Id : 9679471641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Yo ¥g

2. « T S

3. % 3 Had

4. % 3R YA

Question Number : 26 Question Id : 9679471642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The battle of Plassey was fought between forces of the East India Company and Siraj-Ud-Daulah (Nawab of Bengal). Who headed the East India
company at that time?



Options :

1. # Lord Curzon

2. # Warren Hastings
3. % Robert Clive

4. % Lord Cornwallis

Question Number : 26 Question Id : 9679471642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® Q18 Po

2. ¥ gRA gRE™
3. ¢ e F1zd
4. % QIS HHane™

Question Number : 27 Question Id : 9679471643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who formed the Indian National Congress (INC) in 1885?
Options :

1. # Womesh Chandra Bonnejee

2. # Lord Dufferin

3. % Allan Octavian Hume

4. % Lord Curzon

Question Number : 27 Question Id : 9679471643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR BT BIUE (INC) BT T3 1885 H fobdeh gRT fobam 7 T

Options :



1. % U T g0l
2. % dIS SHIRA
3. ¥ T SHidefaa gg™

4. % 9IS Hoi

Question Number : 28 Question Id : 9679471644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the Indian National Congress and the Muslim League confirmed an agreement which came to be known as the Lucknow Pact?
Options :

1. % 1920

2.9 1916

3. % 1921

4, % 1928

Question Number : 28 Question Id : 9679471644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AP B 3R GRerd o1 A fobdt 96 T Freiid &1 gfY o1 ol a1 HfY o U & ST o @
Options :

1. #® 1920

2.¥ 1916

3. % 1921

4. % 1928

Question Number : 29 Question Id : 9679471645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the famous style of temple architecture that became popular in northern India?
Options :

1. % Dravida



2. ¥ Nagara
3. % Paladian
4. % Hybrid

Question Number : 29 Question Id : 9679471645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR HRA H AT g8 Hiex RIS el &1 o7 T oIl 82
Options :

1. # gfds

2. ¥ AR

3. % UaifSaq

4. % bz /Ay

Question Number : 30 Question Id : 9679471646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Savari and Ghumara are the dance forms of which of the following states?
Options :

1. ¥ Odisha

2. % Punjab

3. ¥ Karnataka

4. ¥ Jharkhand

Question Number : 30 Question Id : 9679471646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fart SR IR Fgfofad o  for s @t T Afer &2
Options :

1. ¢ 3N

2. % UWg



3. % HlcH
4. % JRTS

Question Number : 31 Question Id : 9679471647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pushkar Mela is an annual multi-day livestock fair and cultural féte held in which state?
Options :

1. # Chhattisgarh

2. # Gujarat

3. ¥ Rajasthan

4. # Jharkhand

Question Number : 31 Question Id : 9679471647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR Al g o0 7 Sford T arfifep sg-feaiia ugpem At 3ik Wi fae S8 82
Options :

1. % BT

2. % IRId

3. ¥ STV

4. ® FRES

Question Number : 32 Question Id : 9679471648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are several types of groups organised by microfinance institutions for offering credit, insurance, and financial training to the rural
population in India. Which of the following is NOT one of them?

Options :

1. # Joint Liability Group (JLG)
2. # Self Help Group (SHG)

3. % Grameen Model Bank



4. ¥ Urban Cooperatives

Question Number : 32 Question Id : 9679471648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR B AT SM1aTe &1 BT (hfge), ST 3R faxita ufier em & & fore Ireshiee~a (e faw) TR gR1 8 UHR & T8
Tfed foru e § | fFgferiad § ¥ &1 91399 q U A8l 82

Options :

1. % Yo <gdl 94g (JLG)

2. % 9T gTAdl IHg (SHG)

3. % YTt Aisd d

4. ¢ N YehRI Tfvfaai (Urban Cooperatives)

Question Number : 33 Question Id : 9679471649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following was NOT one of the objectives of the five-year plans set up in 19517
Options :

1. # Modernisation

2. ¥ Tax deduction

3. # Full Employment

4. % Economic Self-Reliance

Question Number : 33 Question Id : 9679471649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad 7 9 &= I1 1951 H R vaafa aieH1si &7 U ST T8l U1
Options :

1. % SMYHADIBRUI

2. ¢ PR BTl

3. % U} FRASHRISTIR



4. % 3 srafAviar

Question Number : 34 Question Id : 9679471650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which hills are located to the south of the Kaziranga National Park?
Options :

1. % Khasi

2. % Garo

3. # Jaintia

4. ¥ Mikir

Question Number : 34 Question Id : 9679471650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BISIT P I & SHa0r & B Al ugifsal fRyd g2
Options :

1. % Gl

2. % TR

3. % Srdfaar

4. ¢ TR

Question Number : 35 Question Id : 9679471651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the 2001 Census, and 2011 census, which state is the highest populated state in India?
Options :

1. ¥ Uttar Pradesh

2. % Maharashtra

3. # Bihar

4. % Jharkhand



Question Number : 35 Question Id : 9679471651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2001 T SFRTOMAT 3R 2011 B SHIUFT & SFIAR HRd 61 Tad TS SR aTal g DI 1 82
Options :

1. ¥ IW UK

2. % TERTY

3. % f4gR

4. % JRTS

Question Number : 36 Question Id : 9679471652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which soil is derived from igneous rocks in the hot and relatively dry parts of the southern and the eastern parts of the Indian peninsula?
Options :

1. % Mountanious

2. ¥ Red

3. # Black

4. ® Laterite

Question Number : 36 Question Id : 9679471652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT T 3 cfarmft 3iR gdf 4l & ST 3R 3iiefpd o HIT H S Tg i § i 4 firg} et 82
Options :

1. % gddrg

2. % dldd

3. % Brail

4. % AMBC



Question Number : 37 Question Id : 9679471653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is required to digest the food in stomach?

1. Minerals
2. Enzymes

Options :

1. % Only 1

2.+ Only 2

3. % Both 1 and 2
4. # Neither 1 nor 2

Question Number : 37 Question Id : 9679471653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MR H HivH & UM & o FafaRad 7 3 et sraxgear gidt 82

1.@%?:{

2. UullgH
Options :

1. % $ad 1|

2. ¥ $Had 2
3. % 1 3R 2aH
4. %A 17812

Question Number : 38 Question Id : 9679471654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following animals do NOT have sweat glands?
Options :

1. ¥ Whales

2. * Horses



3. #* Rhinocerosos
4. ¥ Monkeys

Question Number : 38 Question Id : 9679471654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrofafea & & fora omoft & wg sifat =gt gkt &2
Options :

1. v g

2. % grel

3. % 73T (Rhinocerosos)

4. % g

Question Number : 39 Question Id : 9679471655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At the time of Indian Constitution adoption, the Constitution contained how many Aricles and Schedules?
Options :

1. # 495 Articles and 10 Schedules

2. ¥ 395 Articles and 8 Schedules

3. % 399 Articles and 9 Schedules

4. % 425 Articles and 11 Schedules

Question Number : 39 Question Id : 9679471655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR WU B SUT o & THY, i3 & fhda s 3R srgfrai o
Options :

1. % 495 3fTw5E 3R 10 ST

2. ¥ 395 3TdG R 8 TG

3. % 399 3fTwSG IR 9 YAt



4. % 425 3fTwsG 3R 11 SFIgferi

Question Number : 40 Question Id : 9679471656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Articles of the Indian Constitution deal with the Administrative relations between the Union and State Governments?
Options :

1. % 212t0223

2. % 221 to 231

3.9 256 t0 263

4. % 251 to 254

Question Number : 40 Question Id : 9679471656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU & D F Swie 99 SR AT INBR] & §1d YRS Jaef § Faifdd g2

Options :
1. % 2129223
2. % 2219231
3. v 256 9263
4. % 251 9254

Arithmetic Ability
Group Number : 3
Group Id : 96794783
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 96794783
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794799
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9679471657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The value of = + =, + — + 2 will be:
7 14 15 18
Options :
99
1% 315

101
5, % 315

106
3 « 315



106
4 % 317

Question Number : 41 Question Id : 9679471657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A ¢

: L 1
2+ 44— T AR Fhgar gem?
i 14 15 18

Options :
99
| % 315

101
, % 315

106
3 « 315

106
4 % 317

Question Number : 42 Question Id : 9679471658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The LCM of two numbers is 132 times their HCF and their HCF is 9. If one of the two number is between 300 and 400, then the sum of the two
numbers is:

Options :
1. ® 464
2. % 427



3. % 462
4.9 423

Question Number : 42 Question Id : 9679471658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& st T LCM S HCF &1 132 AT 3R 39T HCF 9 7| Tfe g Teamsfi # ¥ Uab T&AT 300 3R 400 & o9 §, i &1 TeA3f &1 It
g7

Options :

1. # 464

2. % 427

3. % 462

4,9 423

Question Number : 43 Question Id : 9679471659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the value of 2.

2532 +50—+/729+9+ (5 x 4)=7?x 5 + 1475 x 2.
Options :
1. # 30
2.9 60
3.% 40
4. % 50

Question Number : 43 Question Id : 9679471659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



' & AT AT HL

253-50—v729<+9+ (5 X 4)=7X 5 + 14.75 X 2
Options :
1. # 30
2.9 60
3.% 40
4. % 50

Question Number : 44 Question Id : 9679471660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 69x4766y is divisible by 11, where x > 0, then which among the following can be the value of x — y?
Options :

1.¥0

2. %1

3.% 2

4, % 3

Question Number : 44 Question Id : 9679471660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 69x4766y, 11 T FAUST B, T8 x > 0§, T x — y BT AH FOfaRead & ¥ &1 91 81 9hdl 82
Options :

1.¥0

2. % 1

3.% 2

4. % 3

Question Number : 45 Question Id : 9679471661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Initially, Santosh has X 540 in his wallet. He adds sum money to the wallet and his amount is increased by 40%. Again he has increased his
amount in the wallet by 25%. Find the amount in his wallet now is how much percent more than the initial amount.

Options :
1. # 74%
2.9 75%
3. % 76%
4. % 77%

Question Number : 45 Question Id : 9679471661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URY H, Y9 & dreic H 2 540 3, Y I8 30 dlcic H $o ART AIST 3R 3fd ITDT AR 40% I 5 | G: I 30 dreic T (U= Ay
T 25% ! gf BT ISP dlcle T gad R, IqH! URMAS AR F foan ufaerd ¢ifde g2

Options :

1. #® 74%

2.9 75%

3. % 76%

4. % T7%

Question Number : 46 Question Id : 9679471662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of number of males to females in a society is 3 : 4. If 40% of the male and 55% of the females are employed, then find the ratio of
number of males who are not employed to the number of females who are not employed.

Options :
l.*%1:4
2.% 1:3
3.%1:2
4.9 1:1

Question Number : 46 Question Id : 9679471662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Ja™ H, TouT 3R Afgarsit o1 TReafi &1 S0Td 3 : 4 81 Al 40% T 3R 55% Aigand faford g, d sifaifora goul eik
Sffaitora Afgeman o Tersil &1 3HuTd J1d i |

Options :

l.*1:4
2.%1:3
3.%1:2
4. v 1:1

Question Number : 47 Question Id : 9679471663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kratika sold a laptop to Lucky at 35% profit and Lucky sold it to Varun at 20% loss. If Kratika had sold the laptop to Varun at 35% profit
directly, then Varun would purchase the laptop at what percentage more than the price at which he actually purchased it?

Options :
1. * 20%
2. % 23%
3.9 25%
4. % 21%

Question Number : 47 Question Id : 9679471663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIAHT = TD! BT TP AUCIT 35% TTH TR 99T 3R APT A T 20% BT IR G301 &1 97 a1 | IS HiaewT A 59 Uiy &I W o801 Bl 35%
TTH TR ST 81T, A1 %01 & o I qUeiy &1 $d o4, 3P dRdidd d Jed ¥ ford- ufa=rd sifeies giam

Options :

1. % 20%

2. % 239

3. ¢ 25%

4. % 21%




Question Number : 48 Question Id : 9679471664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Elena and Sonakshi borrowed the same amount of money from Ishwari at the same rate of interest compounded annually for 2 years and 3 years
respectively. Amount paid by Elena at the end of 2 years is ¥ 40,000 and amount paid by Sonakshi at the end of three years is X 54,000, then what
is the rate of interest p.a.?

Options :
1. * 31%
2.9 35%
3. % 34%
4. % 38%

Question Number : 48 Question Id : 9679471664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3R et 7 S43T  THH Y RITRAT, THH a1 aehdia SaTS &1 R UR SHHRT: 2 T SR 3 a9 & ot SYR off | TAHT gR1 2 a¥ &
3 & TS TS Y-RIRT R 40,000 3R e GRT 3 T & 3id H IabTs T8 YRR 254,000 §, < ST &R fobaT ot

Options :

1. % 31%

2. ¥ 35%

3. % 34%

4. % 38%

Question Number : 49 Question Id : 9679471665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shobhit divided X 'y + 3600' between his two daughters namely, Ronita and Sonakshi in the ratio 7 : 9, respectively. If Ronita invested her share
in scheme 'K' offering 0.125% p.a. simple interest for 8 years while Sonakshi invested her share in scheme 'L' offering 1/3% p.a. simple interest
for 3 years. If the total interest received by both them is X 6300, then find the value of y.

Options :

1. ®# 3616400
2. % 3626500
3. ¥ 3626400



4. * 3626300

Question Number : 49 Question Id : 9679471665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TN T 'y + 3600' TUT BT YRR DT SO & S, AT 3R 1l & T Hrr: 7 : 9 & Sigurd H fauTiord favan| afe Afar = dem
K SO 3T 0.125% Ui a8 &1 U= a1 & 1y FHaferd fovan, Safes amelt =7 srom i &1 1/3% a1fties JYRu o1 IR 3 99 & faw
groHT L | FafRrd foean | afe 391 a1 o Uit $d <16t 6300 $UT 81, <l y BT T J1d B

Options :

1. % 616400 TIT

2. % 626500 3T

3. ¥ 626400 3T

4. % 626300 30U

Question Number : 50 Question Id : 9679471666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kartik, while driving his car, sees an ambulance which 25 m ahead of his car, but after 11 seconds that ambulance was 30 m behind of his car. If
the speed of his car is 40 km/h, then find the speed of ambulance.

Options :

1. ¥ 22 km/h
2. % 20 km/h
3. % 34 km/h
4. % 40 km/h

Question Number : 50 Question Id : 9679471666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HR W ST THT Bl - Th TR Gl ol 3P BR 4 25 m 31 f, Afh 11 Tdve & UYTd, 98 TFgod S9! HR 4 30 m TS
ot | gfe IYPHT HR D1 AT 40 km/h B, A TG ! T ATl DR

Options :

1. ¥ 22 km/h




2. % 20 km/h
3. # 34 km/h
4. % 40 km/h

Question Number : 51 Question Id : 9679471667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dev and Sonakshi together can complete a work in 40 days. If Dev and Elena together can complete the same work in 60 days, while working
with Sonakshi, they can complete the same work in 30 days. What will be the time taken by Dev to complete the same work alone?

Options :

1. # 125 days
2. ¥ 120 days
3. % 130 days
4. % 135 days

Question Number : 51 Question Id : 9679471667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

34 3R el T A1y AR U o1 ot 40 ol B 1 6% Wohd © 1 3fe 39 3R Tl uep A1y fireiank 33t wrd &t 60 fof A R o
qPhd 5, STafd THeht & 1 fa®, 3 I SR &1 30 A1 H A Tohd o | ) 4 3(hdl 39 B DI fhd TH7 T TR HR 2

Options :

1. % 125fam
2. ¢ 1208
3. % 130 feT
4. % 135fa9

Question Number : 52 Question Id : 9679471668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

| DU B U B R B |

m', 'n', '0', 'p', and 'q' are five numbers, such that the average of these numbers is ‘n’, then what will be the average of all the other four numbers
except ‘n’?
Options :



lI.* m—q

2. % 5n-3p
3. % N-20
4, % n

Question Number : 52 Question Id : 9679471668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
m', ', o', 'p', 3R 'q U TEATE &, 3 T3l BT 3T n’ B, “n’ &) BISHR 3 IR G-AT3N T 34 1 B |

Options :

I.* m—q

2. % 5n-3p
3.* n-20

4. % n

Question Number : 53 Question Id : 9679471669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The perimeter of the rectangular floor is 146 m and the difference between its two sides is 33 m, then find the area of the floor.
Options :

1. * 1050 square m

2. % 1066 square m

3. % 1060 square m

4. % 1260 square m

Question Number : 53 Question Id : 9679471669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TAAIHR B BT UNRAY 146 H § 3R 3BT aH1 YoTsif HT 3R 33 8, A B HT &0 d 1 Diford|
Options :

1. % 1050 97 =Y



2. % 1066 97 I
3.+ 1060 971 I
4. % 1260 9 IHY

Question Number : 54 Question Id : 9679471670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of the length to breadth of a rectangle is 8 : 9. If the length of the rectangle is increased by 12.5%, whereas the breadth remains
constant, then the area of the increases by 36 cm. What is the breadth of the rectangle?

Options :

1. ¥ 18 cm
2. % 19cm
3. % 20 cm
4. % 21 cm

Question Number : 54 Question Id : 9679471670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH A B AaT8 3R AIST8 DI U HH: 8 ¢ 9 81 Al Sd P AISTs R WG §U ITAD! Adls | 12.5% P gfk fPT OIH TR 3P
ATHA 36 JH! 9¢ ST €, O 3T B ASTS J1d DI

Options :

1.+ 18 cm

2. % 19 cm

3. % 20 cm

4. % 21 cm

Question Number : 55 Question Id : 9679471671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If the surface area of the hemispherical bowl is 16632 square cm, then what will be the ratio of the number representing

radius to that of volume of the bowl? (Taken = 1—2]

Options :

1. % 7:3696
2.9 1:3696
3. % 2:3695
4. % 3:3020

Question Number : 55 Question Id : 9679471671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THh HEEOThR el H e siahel 16632 I JAT g, af Fear & g2l arelr &ar &1 #eX &

Hmaﬂﬂa@mﬁwgﬁ?n?(Tr:i—z A=)

Options :

1. % 7:3696
2.¥1:3696
3. % 2:3695
4. % 3:3020

Question Number : 56 Question Id : 9679471672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the ratio of curved surface area to total surface area of a solid cylindrical pillar is 4 : 9 respectively and the curved
surface area of the cylindrical pillar is 5500 cm?. then find the height of that pillar. (Taket = 2?—2]

Options :
1 x 1177



2w 1077
3% 1247

4% 1547

Question Number : 56 Question Id : 9679471672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IfE T B TAAHPR TAH F TH ToOIT AITheT HT Hol JeoIT AITh § AT HAU: 4 1 9 § AR
STATHR TS FH I T8IT &% 5500 cm? §, a1 37 TG H Fa% 19 F (n =2?—2 ClHELY

Options :
| % 1147

2.v 10V7
3% 1247

4. % 1547

Question Number : 57 Question Id : 9679471673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The given table shows the ratio of gulab-jamun to rasgulla sold and the number of rasgulla sold out of total items

(rasgulla and gulab-jamun) sold on five different days by a shopkeeper.

Davs Ratio of gulab-jamun to rasgulla sold | Number of rasgulla sold out of total items sold (in kg) |
Thursday 7:6 36
Friday 12D 55
Saturday 3:4 40
Sunday 9:2 62

Total number of gulab-jamun sold on Saturday is how much percent less than the total number of gulab-jamun sold on

Thursday? (correct to two decimal places)
Options :

1. ® 25.57%

2. % 38.57%

3. ¥ 28.57%

4. % 30.57%

Question Number : 57 Question Id : 9679471673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



&r a1 IfAeT T gHFER GART 9T HeRT-HT gt # S 719 Fo IEgAT (T AR F[eE-SHA)
HE 9 970 TamE-SHS AR e F HFATT H g g

fed | & I IEa-SIE IR [l & IUd | I IS P Sl A J Wedl AR (kg A7)
IEAR 7:6 36
YHaIR 1:5 55
AR 3.4 40
faar 9.2 62

ATAIR HN 9 9T I[AE-ATHA A Fof FEIT TR H I T TAE-SATHA 1 Fed T&aT ¥ fohaer wfaea
FH g7 (Y TUHAT TUTA FF TR

Options :

1. % 25.57%

2. % 38.57%

3. ¢ 28.57%

4. % 30.57%

Question Number : 58 Question Id : 9679471674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The given table shows the total number of chocolates (dark and simple) sold and percentage of simple chocolates sold

out of total number of chocolates sold by five different sellers K. L, M, N and O.

Sellers | Total number of Chocolates (dark and simple) sold | Percentage of Simple Chocolates sold
K 450 12
L 640 11
M 500 15
N 438 16
O 625 18

If seller M sold dark chocolate for 7 12 each and seller K sold simple chocolate for ¥ 15 each, then the total amount
earned by the seller M on selling dark chocolate is how much percent more than the total amount earned by the seller K

on selling simple chocolate? (correct to two decimal places)
Options :

1. % 339.63%

2. ¥ 529.63%

3. ® 439.63%

4. % 629.63%

Question Number : 58 Question Id : 9679471674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



farafa @ & K, L, M, N 3R O oo Rffies faararait g o= 12 =ierarel (3% 3R ara=a)
Hr Fol TEAT TUT I 75 Fof Alehole! A A FT I8 WIANOT =eholel T Fiaerd Seirar a1 m gl

fpar | a<h o aiwadd (56 3R wee) & oe gw | o oS aruRer Sisadt o vidva
K 450 12
L 640 "
M 500 15
438 16
0 625 18

IE T M & 93 2 12 & TIT Sk Wehele 997 3T f&erar K & HTURUT =iehele &1 2 15 9ede &
fore &=, ar RFar M E@RT 3% Tieere S99 W 3o For T, Rpar K g@nr a=a ¥ 35T For ufer
¥ Frger gfaea 3% § Gruror Siwee? (@ g T J% Ha)

Options :

1. # 339.63%

2. ¥ 520.63%

3. ® 439.63%
4. % 629.63%

Question Number : 59 Question Id : 9679471675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The given line graph shows total number of heater manufactured (in thousands) by four different companies R, S. T &

U and percentage of heaters which were ‘not sold’ out of the total manufactured heaters by them.
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Number of heaters manufacturad Percentage of 'not sold" heaters

What will be the ratio of total number of heaters sold by company R and T to the the number of heaters which remained

unsold with company S?
Options :

1.v¥ 114 : 17

2. % 100:17

3. % 113:17

4. % 111:17

Question Number : 59 Question Id : 9679471675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frfera @ % 7 I Rfdes F9fAal R, S, T 3k U @ 3eaifed @l & o &1 (B9 #)
AT 3% AN 3eied Fof gl A @ 9= F@ ¢ S HT Fiavd AT IR g

s § T g,

I R AR T @nr o= 1w et #7 For Fear, AR F9er S F 99 7@ 0 el # qw;w A
HedTd AT BT

Options :

1. 114:17

2. % 100: 17

3. % 113:17

4. % 111:17

Question Number : 60 Question Id : 9679471676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The given bar graph shows the efficiency of four people named as I. J, K and L for doing the same work on three
different days.

Note: They all are doing the same work.
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35
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25

B Monday ETuesday & Wednesday

What will be the ratio of time taken by K on Tuesday to the time taken by I on Monday to complete the same work?
Options :

1.%10:7

2.% 11:9

3.%10:11

4.410:9

Question Number : 60 Question Id : 9679471676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 10:7

2.%11:9

3.% 10: 11

4.410:9
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Question Number : 61 Question Id : 9679471677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following sentence using the CORRECT tense.

Mohan a car two years ago.
Options :

1. ¥ bought

2. * will have bought

3. * will buy

4. * would buy



Question Number : 61 Question Id : 9679471677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following sentence using the CORRECT tense.

Mohan a car two years ago.
Options :

1. ¥ bought

2. # will have bought

3. % will buy

4. ¥ would buy

Question Number : 62 Question Id : 9679471678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find out the error part in the sentence from the options given below. If there is no error, select Option No Error.

When I was / a university student in Canada, / I published a book. / No error
Options :

1. % When I was

2. # a university student in Canada,

3. % I published a book.

4. ¥ No error

Question Number : 62 Question Id : 9679471678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find out the error part in the sentence from the options given below. If there is no error, select Option No Error.

When I was / a university student in Canada, / I published a book. / No error
Options :
1. * When I was

2. % auniversity student in Canada,



3. % I published a book.
4. ¥ No error

Question Number : 63 Question Id : 9679471679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the suitable phrasal verb from the options given below.

The minister promised to poverty from the country.
Options :

1. # wipe at

2. # wipe up

3. % wipe out

4. % wipe over

Question Number : 63 Question Id : 9679471679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the suitable phrasal verb from the options given below.

The minister promised to poverty from the country.
Options :

1. % wipe at

2. ® wipe up

3. ¥ wipe out

4. ¥ wipe over

Question Number : 64 Question Id : 9679471680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Suggest the correct SYNONYM of the word 'upbraided' in the sentence from the given options.

The little boy was upbraided by the teachers.



Options :

1. # complimented
2. # praised

3. % admonished
4. ¥ beaten

Question Number : 64 Question Id : 9679471680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Suggest the correct SYNONYM of the word 'upbraided' in the sentence from the given options.

The little boy was upbraided by the teachers.
Options :

1. # complimented

2. # praised

3. % admonished

4. % beaten

Question Number : 65 Question Id : 9679471681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence part which has an error in spelling. If there is no error, select Option No error.

Mrs. Varma was fed up with / the stringent regulations, bad HR policies, / and buraucracy of the company. / No error
Options :

1. % Mrs. Varma was fed up with

2. % the stringent regulations, bad HR policies,

3. ¥ and buraucracy of the company.

4, % No error

Question Number : 65 Question Id : 9679471681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the sentence part which has an error in spelling. If there is no error, select Option No error.

Mrs. Varma was fed up with / the stringent regulations, bad HR policies, / and buraucracy of the company. / No error
Options :

1. ¥ Mrs. Varma was fed up with

2. % the stringent regulations, bad HR policies,

3. ¥ and buraucracy of the company.

4. % No error

Question Number : 66 Question Id : 9679471682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the grammatically CORRECT sentence fromthe given options.
Options :

1. #® The multinational company have a new innovation wing.

2. ® The Principal and staff ready to inaugurate the new building.

3. ¥ The band has been performing in the town every year.

4. ® The situation is tricky and depends upon how one look at it.

Question Number : 66 Question Id : 9679471682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the grammatically CORRECT sentence fromthe given options.
Options :

1. ® The multinational company have a new innovation wing.

2. % The Principal and staff ready to inaugurate the new building.

3. ¥ The band has been performing in the town every year.

4. ® The situation is tricky and depends upon how one look at it.

Question Number : 67 Question Id : 9679471683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blank with the most appropriate word as per the context of the sentence.

If we don't take care, the next wave of the pandemic is
Options :

1. ¥ imminent

2. # eminent

3. # immanent

4. # exceptional

Question Number : 67 Question Id : 9679471683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word as per the context of the sentence.

If we don't take care, the next wave of the pandemic is
Options :

1. ¥ imminent

2. # eminent

3. % immanent

4. % exceptional

Question Number : 68 Question Id : 9679471684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill up the blank with appropriate preposition. If no preposition is required, choose Option No preposition is required.

The police are investigating the case.
Options :

1. # into

2. % in

3. % to

4. ¥ No preposition is required.



Question Number : 68 Question Id : 9679471684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill up the blank with appropriate preposition. If no preposition is required, choose Option No preposition is required.

The police are investigating the case.
Options :

1. # into

2. % in

3. % to

4. ¥ No preposition is required.

Question Number : 69 Question Id : 9679471685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the CORRECT tense that has been used in the following sentence.

Shabana has owned this ice-cream parlour since 2010.
Options :

1. # Simple Present Tense

2. ¥ Present Perfect Tense

3. #* Present Continuous Tense

4. % Present Perfect Continuous Tense

Question Number : 69 Question Id : 9679471685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the CORRECT tense that has been used in the following sentence.

Shabana has owned this ice-cream parlour since 2010.
Options :

1. * Simple Present Tense

2. ¥ Present Perfect Tense



3. # Present Continuous Tense

4. % Present Perfect Continuous Tense

Question Number : 70 Question Id : 9679471686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill up the blank with appropriate article. If no article is required, choose Option No article is required.

_ Pressis all over the crime scene.
Options :

1. % A

2. % An

3. ¥ The

4. % No article is required

Question Number : 70 Question Id : 9679471686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill up the blank with appropriate article. If no article is required, choose Option No article is required.

___ Pressis all over the crime scene.
Options :

1. % A

2. % An

3. ¥ The

4. # No article is required

Question Number : 71 Question Id : 9679471687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the suitable phrasal verb from the options given below.

The police the terrorists last night.



Options :
1. #* rounded down
2. * rounded at

3. #* rounded for

4. ¥ rounded up

Question Number : 71 Question Id : 9679471687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the suitable phrasal verb from the options given below.

The police the terrorists last night.
Options :

1. * rounded down

2. % rounded at

3. #* rounded for

4. ¥ rounded up

Question Number : 72 Question Id : 9679471688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in blank with the CORRECT collocation.

I saw my mother and oftered to help.
Options :

1. ¥ doing the dishes

2. % throwing the dishes

3. # following the dishes

4. % getting off the dishes

Question Number : 72 Question Id : 9679471688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in blank with the CORRECT collocation.

I saw my mother and offered to help.
Options :

1. ¥ doing the dishes

2. # throwing the dishes

3. % following the dishes

4. # getting off the dishes

Question Number : 73 Question Id : 9679471689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Suggest the correct ANTONYM of the word 'sporadic' in the sentence from the given options.

The sporadic rains spoiled all our vacation plans.
Options :

1. # intermittent

2. ¥ constant

3. * untimely

4. % expected

Question Number : 73 Question Id : 9679471689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Suggest the correct ANTONYM of the word 'sporadic' in the sentence from the given options.

The sporadic rains spoiled all our vacation plans.
Options :

1. * intermittent

2. ¥ constant

3. # untimely

4. ® expected



Question Number : 74 Question Id : 9679471690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the meaning of the given idiom.

'add fuel to the fire'
Options :

1. ¥ to make matters worse
2. # to work very hard

3. # to have bitter enmity

4. # to be the cause of a quarrel

Question Number : 74 Question Id : 9679471690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the meaning of the given idiom.

'add fuel to the fire'
Options :

1. ¥ to make matters worse
2. # to work very hard

3. % to have bitter enmity

4. # to be the cause of a quarrel

Question Number : 75 Question Id : 9679471691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence part which consists of a wrongly spelt word. If there is no error, select Option No error.

Father asked to take the package / consisting of the papers from the bureau / and hand over to Mr. Raman's chafeur. / No error
Options :
1. # Father asked to take the package

2. % consisting of the papers from the bureau



3. % and hand over to Mr. Raman's chafeur.

4. % No error

Question Number : 75 Question Id : 9679471691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence part which consists of a wrongly spelt word. If there is no error, select Option No error.

Father asked to take the package / consisting of the papers from the bureau / and hand over to Mr. Raman's chafeur. / No error
Options :

1. # Father asked to take the package

2. % consisting of the papers from the bureau

3. % and hand over to Mr. Raman's chafeur.

4, % No error

Sub-Section Number : 2
Sub-Section Id : 967947101
Question Shuffling Allowed : Yes

Question Id : 9679471692 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions given after it.

While I was hunting the Champawat man-eater in 1907, I heard of a man-eating leopard that was terrorizing the inhabitants of villages on the
eastern border of Almora district. This leopard, about which questions were asked in the House of Commons, was known under several names
and was credited with having killed four hundred human beings. I knew the animal under the name of the Panar man-eater, and I shall therefore
use this name for the purpose of my story.

No mention is made in government records of man-eaters prior to the year 1905 and it would appear that until the advent of the Champawat tiger
and the Panar leopard, man-eaters were unknown in Kumaon. When therefore these two animals - who between them killed eight hundred and
thirty-six human beings - made their appearance, the Government was faced with a difficult situation for it had no machinery to put in action
against them and had to rely on personal appeals to sportsmen. Unfortunately there were very few sportsmen in Kumaon at that time who had any
inclination for this new form of sport which, rightly or wrongly was considered as hazardous as Wilson's solo attempt - made a few years later -
to conquer Everest. I myself was ignorant of man-eaters as Wilson was of Everest and that I succeeded in my attempt, where he apparently failed
in his, was due entirely to luck.

Sub questions



Question Number : 76 Question Id : 9679471693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the narrator, man-eaters in the Kumaon region were not mentioned in the government records before the
Options :

1. # sixth year of the 19th century

2. ¥ fifth year of the 20th century

3. # fifth year of the 19th century

4. ® sixth year of the 20th century

Question Number : 77 Question Id : 9679471694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sportsmen were not inclined to hunt man-eaters because
Options :

1. # they knew the government won't give them any reward.
2. % there were no sportsmen in the Kumaon region.

3. % they knew it was a hazardous task.

4. ® they were unaware of man-eaters in Kumaon.

Question Number : 78 Question Id : 9679471695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate title of the passage from the options given below.
Options :

1. #® The Lack of Sportsmen in Kumaon

2. # The Difficulty in Killing Man-Eaters

3. # The Hunters' Dilemma

4. ¥ Man-Eaters of Kumaon

Question Number : 79 Question Id : 9679471696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
What is the tone of the passage?

Options :

1. ¥ Factual

2. # Satirical

3. % Apathetic

4. % Humorous

Question Number : 80 Question Id : 9679471697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The word, 'machinery’, in the passage means

Options :

1. * willpower

2. # soldiers

3. ¥ gsystem

4, % agmmunition

Question Id : 9679471692 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions given after it.

While I was hunting the Champawat man-eater in 1907, I heard of a man-eating leopard that was terrorizing the inhabitants of villages on the
eastern border of Almora district. This leopard, about which questions were asked in the House of Commons, was known under several names
and was credited with having killed four hundred human beings. I knew the animal under the name of the Panar man-eater, and I shall therefore
use this name for the purpose of my story.

No mention is made in government records of man-eaters prior to the year 1905 and it would appear that until the advent of the Champawat tiger
and the Panar leopard, man-eaters were unknown in Kumaon. When therefore these two animals - who between them killed eight hundred and
thirty-six human beings - made their appearance, the Government was faced with a difficult situation for it had no machinery to put in action
against them and had to rely on personal appeals to sportsmen. Unfortunately there were very few sportsmen in Kumaon at that time who had any
inclination for this new form of sport which, rightly or wrongly was considered as hazardous as Wilson's solo attempt - made a few years later -
to conquer Everest. I myself was ignorant of man-eaters as Wilson was of Everest and that I succeeded in my attempt, where he apparently failed
in his, was due entirely to luck.

Sub questions



Question Number : 76 Question Id : 9679471693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the narrator, man-eaters in the Kumaon region were not mentioned in the government records before the
Options :

1. # sixth year of the 19th century

2. ¥ fifth year of the 20th century

3. # fifth year of the 19th century

4. ® sixth year of the 20th century

Question Number : 77 Question Id : 9679471694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sportsmen were not inclined to hunt man-eaters because
Options :

1. # they knew the government won't give them any reward.
2. % there were no sportsmen in the Kumaon region.

3. % they knew it was a hazardous task.

4. ® they were unaware of man-eaters in Kumaon.

Question Number : 78 Question Id : 9679471695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate title of the passage from the options given below.
Options :

1. #® The Lack of Sportsmen in Kumaon

2. # The Difficulty in Killing Man-Eaters

3. # The Hunters' Dilemma

4. ¥ Man-Eaters of Kumaon

Question Number : 79 Question Id : 9679471696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
What is the tone of the passage?

Options :

1. ¥ Factual

2. # Satirical

3. % Apathetic

4. % Humorous

Question Number : 80 Question Id : 9679471697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The word, 'machinery’, in the passage means
Options :

1. * willpower

2. # soldiers

3. ¥ gystem

4, % agmmunition
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Question Number : 81 Question Id : 9679471698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feaTera @ T e e § 1< AT6d H SRS BT B 91 UG 82
Options :

1. % U HREH

2. % P DRD

3. % YIdY PRD

4. % 3{UIqld HRP

Question Number : 81 Question Id : 9679471698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e § 1 A Mt § 1< a9 B SRS H1 DI 91 UG 82
Options :

1. % YUCH HPRP

2. % PO DPRD

3. ® JIY PRSP

4. « 3{UIqH HRP




Question Number : 82 Question Id : 9679471699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
St fopanfaRiyor fat 3/ Weg H Uy A1 U Sie IR §1d &, 36 9T Had o2
Options :

1. % YR feparfarigor
2. ¢ Qe oI
3. % T feparfarivor

4. % Y fopanfa=iom

Question Number : 82 Question Id : 9679471699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S fpanfa=ivur frat 3/ Treg & U I Ug Sig- R §1d &, 36 o1 H8d 82
Options :

1. % QYR fopariariyo
2. ¢ it feparfawioor
3. % Td feparfarivor

4. % Y fopaTfa=iom

Question Number : 83 Question Id : 9679471700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T T[0T, =T, UG 31 frey aféra g1a &2

Options :

IR I UCIECACELIUES]

2. % FraATHG AN 9
3. % gRATUATE foRvo 3§
4. % JHEES [ayor g

Question Number : 83 Question Id : 9679471700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T T T0T, SR, WHT 31 forat @férd gid 82
Options :

IV CICEACRIN VRS

2. % IS foRivor 3

3. % gRATUETES foRvor 9

4. % TGS [GRIVOT

Question Number : 84 Question Id : 9679471701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
. + A &1 T Te T B2

Options :

1. % gwd

2. ¢ fhd

3. % (At

4. % ol gl

Question Number : 84 Question Id : 9679471701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
F: + e 1 Y Teg R 2

Options :

1. % FAgwd

2. ¢ fhd

3. % [md

4. % o gl

Question Number : 85 Question Id : 9679471702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

o wi= o fore 3frd fadwey giu|
e T & 918 HIs W=l o ot 3{1E, a7 HT SR I1 971G aral Ut & aif &t RN

Options :

1. ¢ U9 quf
2. % fgdrg quf
3. % qdlg gul

4. % gy qof

Question Number : 85 Question Id : 9679471702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yo ®IM & o 3frd fawen gl
afe > & 91¢ Ppig TRl oior quf 31T, &) 7 BT TR I7 ST a1 U1 b o T I

Options :

1. ¢ U9 quf
2. % fgdta quf
3. % gad auf

4. % gy quf

Question Number : 86 Question Id : 9679471703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR &1 TfY fawde o g2

Options :

1. % Hgl + 3AIRIY

2. % Hg + 3R

3. % Hg: + ™

4. % Hg + MY



Question Number : 86 Question Id : 9679471703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR &1 Ay fowvg |2

Options :

1. ¢ Hgl + AR

2. #® Hg + 3RI™

3. % Hg: + ™

4. % Hg + 3RAY

Question Number : 87 Question Id : 9679471704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafed 3 3 ford fadwen & wuft 2reg Tafaareh =18t &2
Options :

1. ¢ fororefl, =oet, gut

2. % A, M, 3R

3. % 3N, 3Ad, Uldsh

4. % IR, <9, gadr

Question Number : 87 Question Id : 9679471704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad o 9 fod fadwen & Tt <ree gatoareh 18l 82
Options :

1. ¢ forofelt, =g, ot

2. % A, WM, 3R

3. % [, 3, Uldh

4. % IR, <9, gadr



Question Number : 88 Question Id : 9679471705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“SIfd 1 faeiH Wsg o gHT?
Options :

1. % UDI

2.¥ dH

3. % 3y

4. % d

Question Number : 88 Question Id : 9679471705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S T faciH Tsg T I
Options :

1. # YhIRT

2.9 dH

3. % 3ffY

4. % d

Question Number : 89 Question Id : 9679471706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“S(OT BT AT AT — GTar BT et 3 1 82
Options :

1. ® 30T gidter id T

2. % HUATINT T

3. % 9 9 91 DAl

4.+ (U 81 ST Hed S

Question Number : 89 Question Id : 9679471706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

“3(OAT &Y T AT — eTaR &1 et 31 o 82
Options :

1. % 3{UHT UHdIaT it 1

2. % 3UATIFT FMAT

3. % W9 9 91 B

4. ¢ 3O g1 §1d Had oIl

Question Number : 90 Question Id : 9679471707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y T YIS 3T P 3 Mo b R 7|« - 1 & Ugad ibiiad b1 Iferd oref om 22
Options :

1. % g

2. ¥ JQ YdH

3. % G TS

4. % 9gC GHGR

Question Number : 90 Question Id : 9679471707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y Gl UTE 31 & Y TS H WE | - a1 & Ugad Aepliad bl 3rad 3 g2
Options :

1. % g YIS

Question Number : 91 Question Id : 9679471708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fFofefad 7 3 &1 91 4 Hidw &Td o1 781 52
Options :

1. % GH Hidw b1

2. ¢ dlchlfer Hidw Brel

3. ® YT HidS BT

4. % gdeqHg Hldx ®1d

Question Number : 91 Question Id : 9679471708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed 3 3 oF a1 g Uias &1a &1 781 82
Options :

1. % JHAY YIS BIcd

2. ¢ dlchIieied HidS BTt

3. % U HidH BT

4. % gdeqyg Hidw e1d

Question Number : 92 Question Id : 9679471709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafaRad o ¥ SF 91 YdaTd $T 3aTexUl gl 62
Options :

1. ¥ 98 3BT 5|

2. % dg AT YT

3. % E TR N

4, % TS|

Question Number : 92 Question Id : 9679471709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafad # ¥ S 91 YaobTd &1 33160 gl 82
Options :

1. ¥ 98 3@

2. % gg 3T YT

3. % T TSI

4. % QIS

Question Number : 93 Question Id : 9679471710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A BTd & [y U F BT 1 gU i BT 1Y Il 82
Options :

1. ¢ quf 99 Fd

2. % JUTH 9aq™ HId

3. % i IdHH BT

4, % JAH IAHM BT

Question Number : 93 Question Id : 9679471710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A HTd & g W F B &1 gui fRif &1 Sy 8iar |2
Options :

1. ¢ quf gdqE F1d

2. % AT A HId

3. % Ty addH BT

4. % ITH GAHH BT

Question Number : 94 Question Id : 9679471711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el o AT STd Ty ey Weg THRIC: Hal STl 82




Options :

1. % g H

2. ¥ RU T

3. % 3fdd

4, % gIAH & 9l

Question Number : 94 Question Id : 9679471711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et & aTa ST THT WY eg ATHIG: Hel AT 62
Options :

1. % A H

2. IRHH

3. % 3

4. % qaqE & 91

Question Number : 95 Question Id : 9679471712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad o 9 o1F 91 91 S 67
Options :

1. % =Tell &1 gS @l 7|

2. % Aol A A foran|

3. ¥ 98 HREM $I AP §

4. % 3P &R AT/

Question Number : 95 Question Id : 9679471712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frgfefed o @ o 1 a9 g 82

Options :




1. % rell &1 gS @l |
2. % TSHT - A feran|
3. ¢ 98 PREM BT HIfeId ¢ |

4. % 30T GXH 1T

Sub-Section Number : 2
Sub-Section Id : 967947103
Question Shuffling Allowed : Yes

Question Id : 9679471713 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

fT 77U eI 1 eATYd e U SR A faw u U & IR |

A o fp A S0 & YR &1 T off Wit udl-fordt 7 2| 7 9t | 39 v el &1 U™ & shexd = 9Heht 718 gift |l R e dl gl
31U YgHI 13T | §H- Aobg! GRIA o, Se=N IR yunferdl &1 dts faan & a1 -8t dl, afer, el &1 31ug T@- &1 38 QR a1el 1.
W e | A oredr oY g % Fobeeit-Rrem 3 fIufarit o eorR & o ot 9 ST Y SR T B RITH A &1 1R 3 QR 9 # gt
B AR} Tl 3ug of 31uaT 36 Ug ot 311 1 At | S dlv qRivi # ugl-feret Rl & garel AT € 36 ATHERTad, SR Y, JTRI,
T ATGT 3T UgT TN | STH JIFHUN-ERUT 1 T ¢ | SfRTult 3 S U da1-isT U Uahid H feradh, Ueh STl & g1, i &l
ST T I8 ol UThd H 7 T

Sub questions

Question Number : 96 Question Id : 9679471714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR o 1Y Suger 2ie o &
Options :

1. « il FRref

2. % 3 Redl

3. % BfoHull

4. % URIATSTHIAT

Question Number : 97 Question Id : 9679471715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TG gAY Sl B g P oed 7 IS s gt IR 3 a1 g 1°— ared H oo a1 fAfgd Ha 82
Options :

1. % qdA B Tl e mazge e B

2. ¢ TIUH & Tl Rref 9gd 1aad ¢ |

3. % ) e Hft srawue 81 W&l 7

4. % g Ugrs B

Question Number : 98 Question Id : 9679471716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g ey UTeHT Rl 82

Options :

1. % Teil-RRren & qudal 9

2. % AL i ¥

3. ¥ WL-fran & fquférar @

4. % gl 4

Question Number : 99 Question Id : 9679471717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RM I § T de1-arsT U forae forar um
Options :

1. % STIor A

Question Number : 100 Question Id : 9679471718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o 1 ard g2



Options :
1. ¢ Rigid
2. % A
3. % Y
4. % 3T

Question Id : 9679471713 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

3T 7T T P eaYd e U SR i fou u usi & IR vl

A S fob RM SHM § YR & U off Wt ug-fordt 71 o 7 98} 30w Rl &1 ugM &1 Sievd 1 9Hel 18 grft R S| dl ]l
31AUd UgHT Mg | 8- Acbgl YR FaHl, SHe=il 3R yonferdl &1 dis fadn & a1 1812 o, =fery, Rerdl &1 31 o &1 39 QR a1et bl
W drg < | SR U1 Y T8 © febeil-Rief o faufarat 1 &0eR o forg +ft 59 el 1 31U+ H § R 7 &1 =1fe fob R oo # FgT
P R Rt g oY ST I Ue Bt SR 7 2t | S T GRTON F - forelt Rl & gara AT § S STThaTad, SRR Y% SIS
1 ATAAT AT UgT AT | ITH SIRTUR-ERUT &1 HUT 5 | BfRUlt 3 St Ueh dal-dIs] U Uohia H foraanz, Teh ST & 814, St &l
ST T 98 ol Wb T F T

Sub questions

Question Number : 96 Question Id : 9679471714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRIRI & forg Suged Xives a1 g2
Options :

1. ¢ Tl TRram

2. % 3 Xl

3. % BfeHoft

4. % URIAT SHIAT

Question Number : 97 Question Id : 9679471715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG gAY &l B g P oevd 7 IS 175 gt R 3 a1 g 1°— ared H oo a1 fAfgd Ha 82




Options :

1. % gdq § it e smazgs T8 |
2. ¢ A B Tl e g S1avas® 5
3. % ) e B srawus T8 &1 7
4. % gl ugrs B

Question Number : 98 Question Id : 9679471716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG e AT el 82

Options :

1. % T-fRen & gadel 9

2. % gAY i 9

3. ¢ WI-fRien & fauféral @

4. % el

Question Number : 99 Question Id : 9679471717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R T H T da-areT U= fora forar Ut
Options :

1. ® SEror

2. % fipwrd

3. % faRifear 4

4. JfRUMA

Question Number : 100 Question Id : 9679471718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
w1 e g
Options :

1. ¢ Rgid



2. % Fe
3. % H

4, % 3T

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 101 Question Id : 9679471719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Disciplinel

6
96794786
0

0

No

No

0

20

No

Disciplinel

96794786
1

Online
Mandatory
20

20

20

Yes

1
967947104
Yes



Correct Marks : 1 Wrong Marks : 0.25

The communication is for disseminating news about the organization to the stakeholders is called as
Options :

1. # Group communication

2. % Mass communication

3. # Social communication

4. % Organisational communication

Question Number : 101 Question Id : 9679471719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIUREATRIERI & Aed TR Y YafRid THER THIRd F- & (8 Uged TR & GG
Options :

1. % gHg IR (Group communication)

2. ¢ S IdR (Mass communication)

3. % grH1foih JAR (Social communication)

4. % FISATHD HOR (Organisational communication)

Question Number : 102 Question Id : 9679471720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Formal letter is written to

Options :

1. % Family

2. ® Friends

3. % Neighbours

4. ¥ College principal

Question Number : 102 Question Id : 9679471720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R U= frd forar Sirar g2



Options :

4. ¥ DIAS/HgIATT o U B

Question Number : 103 Question Id : 9679471721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GD stands for .

Options :

1. ¥ Group discussion

2. % General discussion

3. #® Geographic discussion

4. ® Global discussion

Question Number : 103 Question Id : 9679471721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

St 81 (GD) &1 Juf U F1 82

Options :

1. ¢ YU f&HTHA (Group discussion)

2. % SRd [S¥HTMA (General discussion)

3. % fyefunfthes f&xmsA (Geographic discussion)
4. % TS [S¥HTH (Global discussion)

Question Number : 104 Question Id : 9679471722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
We spend our most of the time in doing activity.
Options :



1. # Reading
2. # Writing

3. % Speaking
4. ¥ Listening

Question Number : 104 Question Id : 9679471722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U SHfRrer =T Trg fuforad & & o1 d nfafafy s & seia aa 82
Options :

1. # Uo-

2. % "

KL

4. YUl (-0

Question Number : 105 Question Id : 9679471723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The transpose of a rectangular matrix is a
Options :

1. ¥ Row matrix

2. % Square matrix

3. ¥ Rectangular matrix

4. % Column matrix

Question Number : 105 Question Id : 9679471723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH AATHR TG (A BT U&IR (transpose) TH HGIE
Options :

1. % tfaq sirgg




2. % g1 fTogg
3. ¥ 3YATHR 3T

4. % IdY 3TYg

Question Number : 106 Question Id : 9679471724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The transpose of matrix A is denoted as .
Options :

1. % A(T)

2. % T(A)

3.% A”

4.9 AT

Question Number : 106 Question Id : 9679471724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3z (ﬁﬁfﬁ) A & &R (transpose) P! fhd & T 1T ST 2
Options :

1. % A(T)

2. % T(A)

3. % A”

4. ¢ AT

Question Number : 107 Question Id : 9679471725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the maximum value of 1/Cosec A?
Options :

1. %0

2. % 172



3. % 1/3
4.9 1

Question Number : 107 Question Id : 9679471725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1/Cosec A T SHfUBTH HIF J1d X |
Options :

1. %0

2. % 172

3.% 1/3

4. 1

Question Number : 108 Question Id : 9679471726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the number of moles of solute present in 1 kg of the solvent.
Options :
1. # Solvency
2. ¥ Molality
3. % Molarity

4. # Percentage Mass

Question Number : 108 Question Id : 9679471726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, 1 T faerem & Hiie fada & A Bt G g
Options :
1. % faaraedn (Solvency)
2. ¢ Tl (Molality)
3. % TR (Molarity)



4. % Yfard gogd (Percentage Mass)

Question Number : 109 Question Id : 9679471727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pH of human bloodis .
Options :

1.¥ 74

2. % 7

3.% 7.1

4. % 6.9

Question Number : 109 Question Id : 9679471727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
H-d Y& $1 UITE (pH) _ B8
Options :

1.¥ 74

2. % 7

3.% 7.1

4. % 6.9

Question Number : 110 Question Id : 9679471728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an input device?
Options :

1. # Projector

2. # Headphone

3. ¥ Light pen

4. ® Plotter



Question Number : 110 Question Id : 9679471728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafea A em Udh g1Yc feargq (input device) %‘?
Options :

1. % Tl

2. % gSHH

3. ¢ dgc U

4. % WY

Question Number : 111 Question Id : 9679471729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The brain of any computer system is
Options :

1. % AU

2. % CU

3.¥ CPU

4. % Memory

Question Number : 111 Question Id : 9679471729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopaft off SegeR vl &1 Ak SRl
Options :

1. * AU

2. % CU

Question Number : 112 Question Id : 9679471730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is following is an example of operating system?
Options :

1. # Chrome

2. ¥ Unix

3. % Server

4. % Modem

Question Number : 112 Question Id : 9679471730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & & o 1 SITRfET Riked &7 38R0 57
Options :

1. % B (Chrome)

2. ¢ G (Unix)

3. % IR (Server)

4. % OI8H (Modem)

Question Number : 113 Question Id : 9679471731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of ROM?

Options :

1. % Read Operation Memory

2. % Read Other Memory

3. ¥ Read Only Memory

4. % Read Once Memory

Question Number : 113 Question Id : 9679471731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3{R.371.TH. (ROM) H1 Juf =0 F1 82

Options :

1. % 38 TRIE AARY (Read Operation Memory)
2. % AT 37X AARY (Read Other Memory)

3. ¢ {8 3fielt HARY (Read Only Memory)

4. % 38 9 AHART (Read Once Memory)

Question Number : 114 Question Id : 9679471732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
generation of computer is based on artificial intelligence.
Options :
1. # Second
2. % Third
3. % First
4. ¥ Fifth

Question Number : 114 Question Id : 9679471732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FER® U @R SR g (G g TR Suid 5l
Options :

1. % gl

2. % ARt

3. % ggal

4. ¢ GiTdl

Question Number : 115 Question Id : 9679471733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an optical storage media?



Options :

1. ¥ DVD

2. # Hard disk

3. # Magnetic tape
4. # Floppy disk

Question Number : 115 Question Id : 9679471733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffea A s U 3HPHd TRl Hifgar (optical storage media) %?
Options :

1.+ 31. 491 8. (DVD)

2. % BT8 fS%F (Hard disk)

3. % W <y (Magnetic tape)

4. % T &b (Floppy disk)

Question Number : 116 Question Id : 9679471734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Letterpress printing is also known as
Options :

1. * Screen printing

2. % Planographic printing

3. ¥ Relief printing

4. % Intaglio printing

Question Number : 116 Question Id : 9679471734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U9 flifd &Y 3R foy A8 A 91 ST 82

Options :




1. % h1 U (Screen printing)

2. % WA fife (Planographic printing)
3. ¢ Qi U (Relief printing)

4. % ST T (Intaglio printing)

Question Number : 117 Question Id : 9679471735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who invented printing press?

Options :

1. # Wilbur Wright

2. % Leonardo da Vinci

3. % Agustin V. Zamorano

4. ¥ Johannes Gutenberg

Question Number : 117 Question Id : 9679471735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fifeT U9 &1 SifaahR forae faam

Options :

1. % faeaR ST (Wilbur Wright)

2. % faraimref a7 fa=ht (Leonardo da Vinci)

3. % 3T Ot STHRM (Agustin V. Zamorano)

4. ¥ SET ‘\J)E"IGHIr (Johannes Gutenberg)

Question Number : 118 Question Id : 9679471736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In letterpress printing, the area on the printing surface receives the ink is called as
Options :

1. ¥ Raised portion



2. % Depressed portion
3. % Surface area

4. ® Printing area

Question Number : 118 Question Id : 9679471736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ey e &, fiifdn Tae w et urd &A a1 & B CaSESII
Options :

1. ¢ 38 UIRH (Raised portion)

2. % f3Us Ul (Depressed portion)

3. % IR TNAT (Surface area)

4. % fOfdT Qﬂtﬂ (Printing area)

Question Number : 119 Question Id : 9679471737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rotogravure is a type of printing process.
Options :

1. # Lithographic

2. # Planographic

3. ¥ Intaglio

4. ® Offset

Question Number : 119 Question Id : 9679471737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR (Rotogravure) Th UHR Bl fife ufora 31
Options :

1. % furnee (Lithographic)

2. % WHIWS (Planographic)



3.  gefieran (Intaglio)
4. % YT (Offset)

Question Number : 120 Question Id : 9679471738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a direct printing process?
Options :

1. # Gravure

2. ¥ Offset

3. % Letterpress

4. % Screen

Question Number : 120 Question Id : 9679471738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # & o W v geor ufshar (srRee fHifen iew) T8 32
Options :

1. % UIAR (Gravure)

2. ¢ AHIT (Offset)

3. % eUg (Letterpress)

4. % TpHA (Screen)

Discipline2
Group Number : 7
Group Id : 96794787
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline2

Section Id : 96794787

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 967947105

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9679471739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car travels 180 km in 3 hours. What is average velocity?
Options :

1. ®* 6 km/h

2. % 54 km/h

3. % 1.25 km/h

4. ¥ 60 km/h

Question Number : 121 Question Id : 9679471739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U PR 3 °e H 180 km P T HRat g | 3G 37T J1d B |



Options :

1. # 6 km/h

2. # 54 km/h
3. # 1.25 km/h
4.+ 60 km/h

Question Number : 122 Question Id : 9679471740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A force of 150 N gives an object of unknown mass an acceleration of 30 m/s2. What is its mass?
Options :

1. ¥ S5kg

2. % 45kg

3. % 180 kg

4. % 450 kg

Question Number : 122 Question Id : 9679471740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

150 N &1 Udh 9 3T SoOH B G B 30 m/s2 BT @RUT (acceleration) & HRAT ¢ | SHBT GTH I B |
Options :

1. ¥ 5kg

2. % 45kg

3. % 180 kg

4, % 450 kg

Question Number : 123 Question Id : 9679471741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Centre lines are knownas
Options :

1. ¥ Long-dashed dotted narrow lines



2. % Continuous narrow lines
3. #® Long-dashed double dotted narrow lines

4. % Dashed narrow lines

Question Number : 123 Question Id : 9679471741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&g a3l (Centre lines) BT P FY H SIH ST g |

Options :

1. ¢ Tal-STs i&'gqm 2GR REG ] (Long-dashed dotted narrow lines)

2. % Fdd Gp<1 @1l (Continuous narrow lines)

3. % Wel-oTS S iagdli R REG ] (Long-dashed double dotted narrow lines)

4. ® TS YH Y@ (Dashed narrow lines)

Question Number : 124 Question Id : 9679471742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Regular octagon has eight equal sides and all the eight angles are at .
Options :

1. % 130°

2. % 120°

3. % 145°

4. ¥ 135°

Question Number : 124 Question Id : 9679471742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH 3TYS BT 3MS JA YL Bl & quTsqe PR e dor . WREA B
Options :

1. ® 130°

2. % 120°



3. % 145°
4. % 135°

Question Number : 125 Question Id : 9679471743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In CMYK, K represents colour.
Options :

1. # Key Lime

2. # Kadium Green

3. % Kryptonite

4. ¥ Black

Question Number : 125 Question Id : 9679471743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CMYK ¥, K forg T1e! defid axar g2
Options :

1. % I ARH (Key Lime)

2. % Hfgga A (Kadium Green)

3. % foppITRe (Kryptonite)

4. & DIl (Black)

Question Number : 126 Question Id : 9679471744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
refers to the surface quality of an object.
Options :
1. # Pattern
2. ¥ Texture
3. % Scale



4. # Porosity

Question Number : 126 Question Id : 9679471744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, fopit a%q ) TTg ) T[uiaRT ! Tefifd aRar |
Options :
1. % Ue
2. ¥ TR (Texture)
3. % Wb
4. ® YT (Porosity)

Question Number : 127 Question Id : 9679471745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
refers to the maximum number of colours which can be stored in an image file.
Options :
1. % Colour intensity
2. % Colour capacity
3. ¥ Colour depth

4. % Colour count

Question Number : 127 Question Id : 9679471745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, U BId/309 BIed U WIEId [T ST P arel TN &1 SHTAH T T i AG 14 Bl ¢ |
Options :
1. % T digdT (Colour intensity)
2. % W &HdT (Colour capacity)
3. ¢ TS (Colour depth)
4. ® JTIUMT (Colour count)




Question Number : 128 Question Id : 9679471746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following software is NOT used for desktop publishing?
Options :

1. # Adobe Photoshop

2. % Core]DRAW

3. % Adobe After Effects

4. ¥ MS Publisher

Question Number : 128 Question Id : 9679471746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafied o 9 &1 91 At ddr SXhe g Ui & o SUTNT -T@1 fda il 62
Options :

1. % TSIg Bl (Adobe Photoshop)

2. % HRAGI (CorelDRAW)

3. ¢ USId 3THeR SHacH (Adobe After Effects)

4. % TH.UY. Yf&IR (MS Publisher)

Question Number : 129 Question Id : 9679471747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DPI stands for .

Options :

1. % Depth Per Inch

2. % Drops Per Inch

3. # Dashes Per Inch

4. ¥ Dots Per Inch

Question Number : 129 Question Id : 9679471747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

S1i.3mE. (Dp1) o1 guf wu T B2
Options :

1. % SUY R T (Depth Per Inch)
2. % ‘gT@rtR‘s'Er (Drops Per Inch)
3. % SAYTW T (Dashes Per Inch)
4. ¢ m W 39 (Dots Per Inch)

Question Number : 130 Question Id : 9679471748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is vector graphics format?
Options :

1. % PSD

2. # TIFF

3. ¥ SVG

4. % PNG

Question Number : 130 Question Id : 9679471748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofefad 7 3 I 91 deex Uifthad BIHe g2
Options :

1. % PSD

2. % TIFF

3. ¥ SVG

4. % PNG

Question Number : 131 Question Id : 9679471749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



is NOT an abiotic part of nature.
Options :
1. # Water
2. ¥ Microbe
3. % Air
4. % Soil

Question Number : 131 Question Id : 9679471749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed # § & 91 uefa &1 srifde UFT T8l 82
Options :

1. # 9Icd

2. ¥ J&H Sid (Microbe)

3. % dg

4. % Hal (Soil)

Question Number : 132 Question Id : 9679471750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT natural ecosystem?
Options :

1. % Forest

2. % Agriculture

3. # Desert

4. % Aquatic

Question Number : 132 Question Id : 9679471750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & § & a1 Ui fas uikiufds! o 81 82




Options :

1. % -

2. ¥ B

3. % IRaH
4. % WA

Question Number : 133 Question Id : 9679471751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the effect of undesirable changes in our surroundings that have harmful effects on plants, animals and human beings.
Options :
1. ¥ Climate change
2. % Green House Effect
3. % Degradation
4. % Pollution

Question Number : 133 Question Id : 9679471751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, BAR uRaw # sraifed uRad =i &1 wHTd €, S aiell, uggaeht 3R 7l R g eRS UHd Siadi g |
Options :
1. % Slcldi giaa (Climate change)
2. % YHEI3Y UHTd
3. % fAHHRUT (Degradation)
4. % YguyU]

Question Number : 134 Question Id : 9679471752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which colour model is used in printing?
Options :



1. * RGB
2. #* BGR
3. ¥ CMY
4. % CMYK

Question Number : 134 Question Id : 9679471752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fiife o v T v o1 SuiT faran @i 32
Options :

1. # RGB

2. % BGR

3. % CMY

4. ¥ CMYK

Question Number : 135 Question Id : 9679471753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In CIELAB colour space, L* represents
Options :

1. ¥ Lightness

2. % Black

3. % Darkness

4. % Contrast

Question Number : 135 Question Id : 9679471753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CIELAB R WY H, L* 370 9 frd Aefod srar g2

Options :
1. ¢ JHD (Lightness)



2. % DIl (Black)
3. #% qH/3ERTUT (Darkness)
4. % HCRC (Contrast)

Question Number : 136 Question Id : 9679471754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
and colour mixing processes occur in modern colour reproduction technology.

Options :

1. # Positive; Negative

2. ¥ Absolute; Relative
3. ¥ Black; White

4. ¥ Additive; Subtractive

Question Number : 136 Question Id : 9679471754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GITW 7 Yyiediadh db-Ih (reproduction technology) | 3R LUREEEY Qﬁ’TITQ Eﬂ_cﬁ %I
Options :

1. ® YATHD; BUNHD (Positive, Negative)

2. % foRUer; Ao (Absolute, Relative)

3. % IOMW; 4d (Black, White)

4. & ’an; YcId (Additive, Subtractive)

Question Number : 137 Question Id : 9679471755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the size of A4 paper in mm?
Options :

1. #® 420 X 594

2. % 297X 420



3. % 210X 297
4. % 148 X 210

Question Number : 137 Question Id : 9679471755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A4 TR BT HR mm A fd=1 8la1 82
Options :

1. % 420 X 594

2. % 297 X420

3.9 210 X297

4. % 148 X 210

Question Number : 138 Question Id : 9679471756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of GSM?

Options :

1. ¥ Grams per square minute

2. % Grams per square millimetre

3. #® Grams per square mass

4. ¥ Grams per square meter

Question Number : 138 Question Id : 9679471756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sff TH.TH. (GSM) &1 01 U 1 §idl 82
Options :

1. % Y R WRR e (Grams per square minute)
2. % YR R WHRR fHciidier (Grams per square millimeter)
3. ® YR UR PRI A (Grams per square mass)



4, ¢ YT TR THRR Hlex (Grams per square meter)

Question Number : 139 Question Id : 9679471757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a process of paper making?
Options :

1. # Pulping

2. # Beating

3. % Cutting

4. # Colouring

Question Number : 139 Question Id : 9679471757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifad 7 3 o1 & s i @R 2fd) ot ufear 78 o2

Options :

4. % JET (HANRT)

Question Number : 140 Question Id : 9679471758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the ink drying method in which chemical reaction that causes molecules in the ink to combine.
Options :
1. # Oxidation
2. % Precipitation
3. ¥ Polymerization

4. % Penetration



Question Number : 140 Question Id : 9679471758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e gEH &t fafd g, ford 81 areh It sififorar wret § Sujsif & Yaiford & &1 SR - d! 8|

Options :
1. % 3{TeRIIHRUT (Oxidation)
2. % 3@ (Precipitation)

3.¥ QET"IW (Polymerization)

4. % Ya (Penetration)
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Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 967947106
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 9679471759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Optimal pH of the dampening solution should be between .
Options :

1. % 35t04.5

2.%45t05.5

3. % 55t06.5

4. % 6.51t07.5

Question Number : 141 Question Id : 9679471759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T faer (dampening solution) P S¥dIH pH fAgfefad 7 9 fead o gial %‘?
Options :

1. % 35945

2.4 45955

3.% 55965

4.% 65975

Question Number : 142 Question Id : 9679471760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In technology, an image created in a DTP application is directly exposed to a printing plate.
Options :

1. ¥ Computer to Plate

2. # Direct Image



3. % Computer to Film

4. # Computer to Press

Question Number : 142 Question Id : 9679471760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ doie H, T o121 TRilhR H &% 78 ofd W T fUifdT wie & dudh H ol 3|
Options :

1. ¥ SR e (Computer to Plate)

2. % STSNaCT A (Direct Image)

3. % HYR ¢ e (Computer to Film)

4, % W < Uq (Computer to Press)

Question Number : 143 Question Id : 9679471761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which printing technology uses stencil as image carrier?
Options :

1. # Offset

2. % Screen

3. # Flexography

4. % Gravure

Question Number : 143 Question Id : 9679471761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B T qb-is SHS HRIR & =Y H WRel BT IudI Hll 52
Options :

1. % 3{HAT (Offset)

2. ¢ BhiH (Screen)

3. % TRIGIRITG! (Flexography)



4. % YIAR (Gravure)

Question Number : 144 Question Id : 9679471762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT right about digital printing?
Options :

1. ® Digital printing is less expensive

2. ® Digital printing is less time consuming

3. ¥ File preparation is more complicated in digital printing

4. ® Digital printing eliminates the expense of plate making

Question Number : 144 Question Id : 9679471762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rrfefed 3§ S 1 fefred Rift & o) & g T8 &
Options :

1. % fSforea fiifén &0 wdfch gl &

2. % fSforeq fifen & 0 g AT g

3. ¢ T&fre fHifen & prgel daR B 3ifdes wiiee 8

4. % TERyea fife A we 91 &1 T @ g S 8

Question Number : 145 Question Id : 9679471763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of JPEG?

Options :

1. ¥ Joint Photographic Expert Group

2. # Joint Picture Expert Group

3. # Joint People Expert Group

4. % Joint Photo Expert Group



Question Number : 145 Question Id : 9679471763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

St 3.5 oPEG) 1 qUf wu @ B2

Options :

1. ¢ Gﬁg—c’ Larapllive:a Qaﬂ'q_é YU (Joint Photographic Expert Group)
2. % Gige fUgR Tagud U (Joint Picture Expert Group)

3. # Sigc Hiud Tequc U (Joint People Expert Group)

4. % Sigc Bl TaqUe 94 (Joint Photo Expert Group)

Question Number : 146 Question Id : 9679471764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of RIP?

Options :

1. # Raster Intensity Processor

2. # Raster Impact Processor

3. ¥ Raster Image Processor

4. ¥ Raster Intermediate Processor

Question Number : 146 Question Id : 9679471764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R3S Ut (RIP) &1 JUT U T 2

Options :

1. % IR SCRIET UK (Raster Intensity Processor)

2. % R FUIE TR (Raster Impact Processor)

3. ¥ IR Eﬂﬁ TRIRR (Raster Image Processor)

4, ® IR éC{HhIi':SU,C Ehw (Raster Intermediate Processor)




Question Number : 147 Question Id : 9679471765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is continuous ink jet technology?
Options :

1. # Thermal

2. # Piezo

3. ¥ Binary deflection

4. % Electrostatic

Question Number : 147 Question Id : 9679471765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifad # ¥ S T Tad §& 9T (ink jet) THD 82
Options :

1. % QYR (Thermal)

2. % tﬁTrﬁ(Piezo)

3. ¢ fganur faguu (Binary deflection)

4, % W(Electrostaﬁc)

Question Number : 148 Question Id : 9679471766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following cylinder is the upper most cylinder in Offset Printing Machine?
Options :

1. % Blanket

2. % Impression

3. % Ink

4. ¥ Plate

Question Number : 148 Question Id : 9679471766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ffpde fifd Axia & Rufrfaa # @ o a1 Rids ga9 Sl Rids 82
Options :

1. ® Kidbc (Blanket)

2. % UM (Impression)

3. % g (Ink)

4. ¥ WIT (Plate)

Question Number : 149 Question Id : 9679471767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The thickness of offset printing PS plate is
Options :

1. ¥ up to 0.3 mm

2. % 0.1t00.5mm

3. % 0.5t0 0.7 mm

4. % more than 0.7 mm

Question Number : 149 Question Id : 9679471767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fpde fiifen .oy, (ps) @i o) Hiers gt o
Options :

1. ¥ 0.3 mm ddh

2. % 0.190.5 mm

3. % 05907 mm
4. % 0.7 mm 3 31fIH

Question Number : 150 Question Id : 9679471768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



printing is a method in which individual paper is fed into the machine.
Options :
1. % Web-fed offset
2. ®% Gravure
3. # Flexographic
4. ¢ Sheet-fed offset

Question Number : 150 Question Id : 9679471768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ fUifen ve U Al @, e ueh-ues U/ @) 1R § WS fear sar 2
Options :

1. % 99-Bp8 AT

2. % YIAR (Gravure)

3. % TIRIRTBIH (Flexographic)

4. ¥ QCBS BT

Question Number : 151 Question Id : 9679471769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The contact line between the blanket cylinder and the impression cylinder is called as
Options :

1. ¥ Printing nip

2. # Printing plate

3. % Bearer

4. % Gearwheel drive

Question Number : 151 Question Id : 9679471769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i e Ricfex 3R $HIRM Riclex & ot 31 WU 4T (Sicae d1s) o1 Heall 62

Options :



1. ¢ fifdn fAg (Printing nip)

2. % fUf&T @e (Printing plate)

3. % {9 (Bearer)

4. % TR S18d (Gearwheel drive)

Question Number : 152 Question Id : 9679471770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Stream feeder is a part of

Options :

1. # In-feed section

2. # Printing section

3. # Delivery section

4. ¥ Feeder section

Question Number : 152 Question Id : 9679471770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W wiex Fgfeiad & § feger Ui garg?
Options :

1. ® ST-BIS YoM

2. % fUfd qo=m

3. % fSforadt YoM

4. ¥ BIS YoM

Question Number : 153 Question Id : 9679471771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT true about entrepreneur?
Options :

1. # Entrepreneurs accept risk.



2. ¥ Entrepreneurs are job seeker.
3. % Entrepreneurs are self-determined to achieve goals.

4. ® Entrepreneurs always identify opportunity.

Question Number : 153 Question Id : 9679471771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed @ 3 oF a1 I & IR § gl 78t o7
Options :

1. % I & Aq WHR I g

2. ¢ JEft At qare 9 g1 B

3. % Il el ) U B & oI W Tg B B
4. % I GHR AR B! UgdH R ¢ |

Question Number : 154 Question Id : 9679471772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a primary function of entrepreneur?
Options :

1. # Planning

2. # Decision making

3. # Innovation

4. ¥ Expansion of the enterprise

Question Number : 154 Question Id : 9679471772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRaa & I oI 1 I &1 UrdfiS &1l 981 52
Options :
1. % YIS §F1/AASH (Planning)

2. % fuig oI (Decision making)




3. % 9dMR (Innovation)
4. ¢ IgH 1 fATIR (Expansion of the enterprise)

Question Number : 155 Question Id : 9679471773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CSR stands for .

Options :

1. # Collective Social Responsibility

2. # Community Social Responsibility
3. % Creative Social Responsibility

4. ¥ Corporate Social Responsibility

Question Number : 155 Question Id : 9679471773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W T9.3R. (CSR) H1 Iuf =0 F1 82

Options :

1. % PHallgcd IR LI-qfareret (Collective Social Responsibility)
2. ® Wﬂ IR Y -ataferdt (Community Social Responsibility)
3. % ﬁ?@%a IR J=afaferdt (Creative Social Responsibility)

4. ¢ HIONC e T T-afaferet (Corporate Social Responsibility)

Question Number : 156 Question Id : 9679471774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is known as heart of flexography printing.
Options :
1. # Doctor blade
2. ¥ Anilox roll

3. # Fountain roll



4. # Impression cylinder

Question Number : 156 Question Id : 9679471774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, TRt e & §eW (heart) & U B ST ST B
Options :
1. % 3Tdex &S (Doctor blade)
2. ¢ AR A (Anilox roll)
3. % BT3¢ Ud (Fountain roll)
4. % SO Rycde (Impression cylinder)

Question Number : 157 Question Id : 9679471775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Flexography is a method of direct printing that uses relief image printing plates.
Options :

1. # Smooth

2. # Hard

3. % Compressed

4. ¥ Flexible

Question Number : 157 Question Id : 9679471775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS Udel T&o1 1 U fafd g, fored fecitts goor fUifT wiet &1 ST farar ST 8|
Options :

1. % fae-t (Smooth)

2. # Y, (Hard)

3. % guifsd (Compressed)

4. ¢ T (Flexible)



Question Number : 158 Question Id : 9679471776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of printing plate is used in flexography printing?
Options :

1. ¥ Photopolymer

2. % Aluminium

3. % Steel

4. % Wooden

Question Number : 158 Question Id : 9679471776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG Ui & ford TR @t fUifeeT wie o1 ST fova s 82
Options :

1. ¥ BICIUIAR

2. % TegHIgH

3. % gWId

4. % HIEE

Question Number : 159 Question Id : 9679471777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In screen printing, fabrics can be obtained in levels of fineness from
Options :

1. % 0.1to 1 fibers/cm

2. % 1 to 10 fibers/cm

3. ¥ 10 to 200 fibers/cm

4. % 200 to 250 fibers/cm

Question Number : 159 Question Id : 9679471777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

i e H adidl | T & UdAIuH (fineness) TRI 1 U {01 S GhaT B |
Options :

1. % 0.1 9 1 fibers/cm

2. % 13 10 fibers/cm

3. ¢ 10 200 fibers/cm

4. % 200 I 250 fibers/cm

Question Number : 160 Question Id : 9679471778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the first print finishing process of printed sheet?
Options :

1. ¥ Paper cutting

2. % Folding

3. # Forwarding

4. ¥ Gathering

Question Number : 160 Question Id : 9679471778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fiics <fte &1 ugel flie fARRT uftsar o & 82
Options :

1. ¥ UR BT

2. % IS

3. % tl’ﬁ?ﬁﬁ"'[(Forwarding)

4. % TG (Gathering)

Discipline4
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Group Id : 96794789
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Group Marks : 20

Is this Group for Examiner? : No
Discipline4
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20
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Question Number : 161 Question Id : 9679471779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Binding is a function.

Options :

1. * Prepress

2. % Printing

3. % Post press

4. # Press



Question Number : 161 Question Id : 9679471779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT (Rreeamh) T cauEd
Options :

1. % WG

2. % fUfd

3. ¥ URCUY

4. % U9

Question Number : 162 Question Id : 9679471780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a process in which materials are cut in a specific pattern.
Options :
1. ¥ Die-cutting
2. % Cutting
3. ¥ Trimming
4. # Slitting

Question Number : 162 Question Id : 9679471780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T Ufshan 3, forgd aredt & uep fafRry Ue & srer S g
Options :
1. ¢ SIR-BIe
2. ® BT
3. % fefi
4. % ¥



Question Number : 163 Question Id : 9679471781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a type of folding?
Options :

1. # Gate fold

2. % Right angle fold

3. % Round fold

4. % Parallel fold

Question Number : 163 Question Id : 9679471781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfITEd & ¥ D9 A1 BIfcST &1 T UDHR 781 57
Options :

1. % T Bl

2. % 3 WA IS

3.V ASS Bl

4. % RAA BIcS

Question Number : 164 Question Id : 9679471782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is used to mark the first and last page of the folded sheet to support the correct location and sequence during finishing.
Options :
1. # Folder
2. ¥ Signature
3. ® Folio
4. % Collator

Question Number : 164 Question Id : 9679471782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

%W%ﬁmﬁwaﬁvwmwﬁqm%%@ Bics &1 g3 Y & Ugd 3R 3ifar gy &1 fRifgd & & ferg BT YT
ST ]

Options :

1. % e

2. ¢ RIURR (Signature)
3. % Wlferl

4, # W(Collator)

Question Number : 165 Question Id : 9679471783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gravure printing is also called printing.
Options :

1. #¥ Lithography

2. % Stencil

3. # Collotype

4. ¥ Intaglio

Question Number : 165 Question Id : 9679471783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1;|'|T>?3|-1T(Gravure)ﬁﬁ"Tﬁ Wﬂ*ﬁﬁﬁﬂ%l
Options :

1. % T

2. % ¥R

3. % Pldlerzy

4. Zefieral

Question Number : 166 Question Id : 9679471784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Gravure printing is a widely used to print large volumes of
Options :

1. * Newspapers

2. ¥ Bank notes

3. # Printed Circuit boards

4. % Labels

Question Number : 166 Question Id : 9679471784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR (Gravure) T BT IUTNT SAUS U F TSt ABT (volumes) H flic & & forw fpar Smar g1
Options :

1. % JHRR UF

2. ¢ d% Hle

3. % flice Afche dIgH

4. % A9

Question Number : 167 Question Id : 9679471785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The viscosity of gravure ink is

Options :

1. % very high

2. ¥ very low

3. % superior

4. % moderate

Question Number : 167 Question Id : 9679471785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR W6t (gravure ink) P T (viscosity) gl % |



Options :

1. ¥ dgd 3=

2.« §gd 79

3. % W(superior)

4. ® HYH (moderate)

Question Number : 168 Question Id : 9679471786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Impression roller is typically located the gravure cylinder.
Options :

1. ® below

2. % beside

3. ¥ above

4, % near

Question Number : 168 Question Id : 9679471786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SO AR HRIG: AR (gravure) FITS & fagar gl
Options :

1. % d

2. % FAH

3.9 SWR

4. % Ug

Question Number : 169 Question Id : 9679471787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following item is NOT printed through security printing?
Options :



1. # Bank notes

2. # Passports

3. % Stock certificates
4. ¥ Newspapers

Question Number : 169 Question Id : 9679471787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafea 7 3 o9 @ a¥ YR&T HKUT (security printing) & HIegd H@H T gt 82
Options :

1. % d& e

2. % UTUIE (Passports)

3. % Wb gifhoe (Stock certificates)

4, ¢ JHHR A

Question Number : 170 Question Id : 9679471788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The main purpose of security printing is to
Options :

1. # Reduce cost

2. ¥ Prevent forgery

3. % Print fast

4. % Improve quality

Question Number : 170 Question Id : 9679471788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gR&T HKUT (security printing) T BT ST 1 87
Options :

1. % TN hH HRAI




2. SITCTSH Dl AT
3. % ot 9 fife &
4. % T[UTal] § GUYR HAT

Question Number : 171 Question Id : 9679471789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT fixed expense for printing job?
Options :

1. # Rent

2. % Salaries

3. # Depreciation on fixed assets

4. ¥ Office supplies

Question Number : 171 Question Id : 9679471789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoiaa # Q@ o9 w1 geur s (e Site) & forg ffa or froa sog Tt 82
Options :

1. % fomn

2. %

3. % 3T URIURA IR g

4. ¥ ST ML

Question Number : 172 Question Id : 9679471790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In multi-colour printing, the cost of colour can be reduced by
Options :

1. ¥ Using directly black colour rather than chromatic colour

2. # Mixing cyan, magenta and yellow colour in equal amount



3. ® Using black cyan, magenta and yellow colour in equal amount

4. % Mixing red, green and blue colour in equal amount

Question Number : 172 Question Id : 9679471790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

-3 HgT (He)-her fUifem) H, 1 ) aNTd &) 58 SH foha o Tebel 82
Options :

1. ¢ ShIAfeH 1T P Foly, WY BT T BT IUTNT HIb

2. % JUFE AETH 7=, Tofer 3R diat 7 &) firdras

3. % JUE AT H HTo 3T, Boler 3R tid 1 & e

4. % TUF IETH 919, 89 3R a3 31 fidmeas

Question Number : 173 Question Id : 9679471791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find out the weight of one ream of 80 GSM paper in 61 X 88 cm size.
Options :

1. ® 21.55kg

2. % 21.52kg

3.9 21.47 kg

4. % 21.23 kg

Question Number : 173 Question Id : 9679471791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

61 X 88 cm 3THR H 80 GSM UTR Hi Uh IH BT a9 T DY |
Options :

1. ® 21.55kg

2. % 21.52kg

3.9 21.47 kg



4. % 21.23 kg

Question Number : 174 Question Id : 9679471792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of ISBN?

Options :

1. # International Serial Book Network

2. # International Serial Book Number

3. # International Standard Book Network
4. ¥ International Standard Book Number

Question Number : 174 Question Id : 9679471792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{TS. T, T. (ISBN) &1 01 U 1 g2
Options :

1. saﬁw ifad g B[] (International Serial Book Network)
2. % sa%rw ifad g &R (International Serial Book Number)

3. % éd%‘jl-‘{l"ld Wss SE Scdd (International Standard Book Network)
4. 'i;dﬁzl-?l"lﬂ Wss SEY JR (International Standard Book Number)

Question Number : 175 Question Id : 9679471793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In publishing house, section is responsible for acquisition and development of manuscripts.
Options :

1. # marketing

2. % sales

3. ¥ editorial

4. # production



Question Number : 175 Question Id : 9679471793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YPIRIT ]G (publishing house) 7, STTHIT trrg’i?-rlﬁ?fr & AR 3R 9 & forg SeR g |
Options :

1. # fqque

2. % foepl

3. ¢ JUIGH

4. % fmfor

Question Number : 176 Question Id : 9679471794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of e-book?

Options :

1. # Easy Book

2. ¥ Electronic Book

3. % Elementary Book

4. # Essential Book

Question Number : 176 Question Id : 9679471794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
é—@ (e-book) hT U;Uf Y T2
Options :

1. # ﬁTrﬂ P (Easy Book)

2. sﬁm & (Electronic Book)
3. % TAHT g& (Elementary Book)

4, #® @WW (Essential Book)



Question Number : 177 Question Id : 9679471795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an e-book reader?
Options :

1. ¥ Amazon Kindle

2. ¥ Microsoft Surface

3. % Sony Reader

4. % Barnes & Noble Nook

Question Number : 177 Question Id : 9679471795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafofed # 4 o W 3-g% dex T8t 82
Options :

1. % 3fAul fdhsda (Amazon Kindle)

2. ¢ HISHINGUE IR (Microsoft Surface)

3. % g ISR (Sony Reader)
4. % §Y & A9 & (Barnes & Noble Nook)

Question Number : 178 Question Id : 9679471796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of PDF?

Options :

1. ¥ Preferable Device Format

2. # Portable Device Format

3. # Preferable Document Format

4. ¥ Portable Document Format

Question Number : 178 Question Id : 9679471796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

¢ €1.U%. (PDF) &1 JUf U F1 52

Options :

1. % UBEd %dl‘é{-l BIHe (Preferable Device Format)

2. % O1¢qd fSarsy WiHe (Portable Device Format)

3. % JOREd qu&i\ﬁ'c Bide (Preferable Document Format)

4. ¥ Uicad S:IJHQIQ_C' B (Portable Document Format)

Question Number : 179 Question Id : 9679471797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a part of printing ink?
Options :

1. #® Pigments

2. ¥ Wax

3. % Additives

4. % Binders

Question Number : 179 Question Id : 9679471797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed & @ & a1 fifeT S ([ @) &1 U6 9w T8l 82
Options :

|. % gU®H (Pigments)

2. v HI|

3. % TITST (Additives)

4. % RS

Question Number : 180 Question Id : 9679471798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which binding agent holds the ink together?
Options :

1. ¥ Additive

2. % Dye

3. % Vehicle

4. % Pigment

Question Number : 180 Question Id : 9679471798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ebﬁ_"f 7 SYThRI Q@? (binding agent) FTI_EQI &l Uch 1Y ¥ddT %‘?
Options :

1. % TRTS (Additive)

2. % TGP (Dye)

3. ¢ dIgd (Vehicle)

4. % gule (Pigments)

Discipline5
Group Number : 10
Group Id : 96794790
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
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Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9679471799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an inorganic pigment?
Options :

1. ¥ Black pigments

2. % White pigments

3. ® Pearlescent pigment

4. ¥ Fluorescent pigment

Question Number : 181 Question Id : 9679471799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BEINREE R CIGE] & BEHD qUIH (Inorganic Pigment) Tal 87
Options :

1. ¢ &1 e

2. % grse fide

3. % fUEReRe fomde

4. % IR fUrHe




Question Number : 182 Question Id : 9679471800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The inner resistance to the flow of the ink is termed as
Options :

1. # Thixotropy

2. % Opacity

3. ® Viscosity

4. ¥ Tackiness

Question Number : 182 Question Id : 9679471800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T} & TaTe & SR UfaRIY B T HgT STl 572
Options :

1. % fyaierdt

2. % 3OEddr (Opacity)

3. % AT

4. ¢ Teafgro— (Tackiness)

Question Number : 183 Question Id : 9679471801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a coarse paper used in packaging?
Options :

1. % Kraft paper

2. ¥ Greaseproof paper

3. # Sulphite paper

4. ¥ Tissue paper

Question Number : 183 Question Id : 9679471801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

faferiad 7 @ o a1 dofor o U dd 81 aTel Hiel HRTS (coarse paper) qﬁ%‘?
Options :

1. % IR U

2. ¢ FYH TR

3. % JhTge UR

4. % o O

Question Number : 184 Question Id : 9679471802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of HDPE?

Options :

1. ¥ Heavy Density Polypropylene

2. ® High Density Polypropylene

3. ¥ High Density Polyethylene

4. ¥ Heavy Density Polyethylene

Question Number : 184 Question Id : 9679471802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9.3 W 3. (HDPE) &1 quf wU 1 82

Options :

1. % %a"r SRt q]”??@ﬂ]g?ﬁ?{ (Heavy Density Polypropylene)
2. % g3 SRIC UIUIUTS A (High Density Polypropylene)
3. ¢ BT SRI! Uraefed (High Density Polyethylene)

4. % gdt SRy uTeiefeia (Heavy Density Polyethylene)

Question Number : 185 Question Id : 9679471803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is NOT a package testing type?
Options :

1. * Drop testing

2. % Vibration testing

3. ¥ Contact testing

4. # Impact testing

Question Number : 185 Question Id : 9679471803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁaﬁr@aﬁ@rﬁqmw UhTR BT Udbol UII&UT (package testing) T-Iﬂ%v
Options :

1. % 219 CRET

2. % GIEEA CRET

3. ¥ BIcac CReTT

4. % 3Uge <&M

Question Number : 186 Question Id : 9679471804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is biological hazard in distribution?
Options :

1. ¥ Fungi

2. # Temperature

3. # Inertia

4. % Wind

Question Number : 186 Question Id : 9679471804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad & 9 & 91 faawor § o arel Sifde @dv 22

Options :



|. ¢ BHID
2. % qIUHHA
3. % Sled
4. % grg/Edl

Question Number : 187 Question Id : 9679471805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Newspaper printing machines have folding units.
Options :

1. ¥ Two

2. # Three

3. % Four

4. # Five

Question Number : 187 Question Id : 9679471805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FHRRYA fUfe 72 & fa BT gfe 81t 22
Options :

.Y a

2. % G

3. % dR

4. % U9

Question Number : 188 Question Id : 9679471806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
printing is used to print newspaper.

Options :

1. # Sheet-fed offset



2. ¥ Web-fed offset
3. ¥ Screen
4. # Digital

Question Number : 188 Question Id : 9679471806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BT SN AR U7 fUic & & fpar Srar g
Options :
1. % B Hithyc
2. ¥ 98-8 HYC
3. % ThIH
4. % fgforea

Question Number : 189 Question Id : 9679471807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of CIC?

Options :

1. # Cold Impression Cylinder

2. ® Carbon Impression Cylinder

3. ® Cable Impression Cylinder

4. ¥ Common Impression Cylinder

Question Number : 189 Question Id : 9679471807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It emE L. (Cc10) T YUl T FT 82

Options :

1. % PIcs UM RIS (Cold Impression Cylinder)
2. % PHIe 3UA e

SR (Carbon Impression Cylinder)



3. % Had E.QQH BRER (Cable Impression Cylinder)
4. ¥ DA s’QQH BRER (Common Impression Cylinder)

Question Number : 190 Question Id : 9679471808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Graphic design is also called as

Options :

1. %* TIllustrations

2. # TV production

3. ¥ Communication design

4. % Advertisement

Question Number : 190 Question Id : 9679471808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Uiftheh fSSTS B NEESIG ]
Options :

1. % AL

2. % 2idl UreaRM

3. ¢ IR f&es

4. % faqmu=

Question Number : 191 Question Id : 9679471809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Printing elements like text or lines are measured in system.
Options :

1. # Metric

2. ¥ Point

3. % Pixel



4. #® Type

Question Number : 191 Question Id : 9679471809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R /gomel § ¢oRe a1 AreH oY flifeT Teitfic &1 AT Sran & |
Options :
L * Afew
2. ¥ Ulse
3. % fUd
4, % CIgU

Question Number : 192 Question Id : 9679471810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The typefaces are classified into distinct styles.
Options :

1. # Five

2. % Eight

3. ¥ Eleven

4. ¥ Fifteen

Question Number : 192 Question Id : 9679471810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIZUB (typeface) P fobaml S-S Qfert & mm far mar g2
Options :

1. % U

2. % 3{Id

3. ¥ TRg

4. % Ugg



Question Number : 193 Question Id : 9679471811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PCF stands for

Options :

1. ® Process Carbon Free

2. % Process Calcium Free

3. # Process Cadmium Free

4. ¥ Process Chlorine Free

Question Number : 193 Question Id : 9679471811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G . Tw. (PCF) &1 0 U 1 /2

Options :

1. % T HTe Wl (Process Carbon Free)

2. % T bieRray W (Process Calcium Free)
3. % U Hefioy (Process Cadmium Free)
4. ¥ U 9ARIE Wt (Process Chlorine Free)

Question Number : 194 Question Id : 9679471812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The inks used in sheet-fed offset printing are volatile organic compounds free, because
Options :

1. ® The oils used as solvents evaporate at ambient temperature.

2. % The oils used as solvents do not evaporate at ambient temperature.

3. % It uses oil free ink.

4. ® The ink is environment friendly.

Question Number : 194 Question Id : 9679471812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

et Hipde fifd & Iuai &t I arel Wiel (3) arusiia wrdfe G gad 31 giat 82
Options :

1. % {3 & =0 § IUANT fhT ST ardl dd ulRaer & draHT R a1fed 81 offd & |

2. ¢ fAdage & U H IUNT fHT oIF et ddf URaw & dTgH= R aiferd T8l gid & |

3. % U dd Hod WIe! &1 SUANT fohdm S g

4. % WG TR0 & 3IHd Bl ¢

Question Number : 195 Question Id : 9679471813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the measured force required to promulgate a tear in the sheet from an initiated cut.
Options :
1. ¢ Tearing resistance
2. % Burst resistance
3. # Puncture resistance
4. ® Stiffness

Question Number : 195 Question Id : 9679471813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

 UH3IARY fhu MU He (initiated cut) R IR (tear) DI AT (promulgate) A D fore srazg® A1ftd 9a % |
Options :

1. ¢ IRA gfaRiy (Tearing resistance)

2. % d8& UfaRIY (Burst resistance)

3. % TR UfcRIY (Puncture resistance)

4. % HgIUA (Stiffness)

Question Number : 196 Question Id : 9679471814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is type of unplanned maintenance?
Options :

1. # Scheduled

2. # Predictive

3. % Preventive

4. ¥ Break down

Question Number : 196 Question Id : 9679471814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffed # § &9 91 U6 UHR &1 s W@ 82
Options :

1. % f99d (Scheduled)

2. % HT?T[EH (Predictive)

3. % ﬁﬁW(Preventive)

4. ¥ 9% I3 (Break down)

Question Number : 197 Question Id : 9679471815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
tool is used to tighten or loosen the nuts and bolts.
Options :
1. # Chisel
2. % Wrench
3. % Piler

4. % Hammer

Question Number : 197 Question Id : 9679471815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢ 3R dee B! B TT Sl B & foTU f5T IUHRN BT IUTNT fHaT Srar g2




Options :

1. % B (Chisel)

2. ¢ % (Wrench)

3. % UIgCR (Piler)

4, # giﬁtcjﬁ (Hammer)

Question Number : 198 Question Id : 9679471816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a type of cam?
Options :

1. ¥ Cylindrical

2. % Eccentric

3. % Roller

4. % Groove

Question Number : 198 Question Id : 9679471816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafefd & A &I 91 U YR B1 HH (cam) T 82
Options :

1. % SEIPHR (Cylindrical)

2. % W(Eccentric)

3. ¢ AR (Roller)

4. % Yd (Groove)

Question Number : 199 Question Id : 9679471817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is semi-solid lubricant?
Options :



1. # Graphite
2. ¥ Chalk
3. ¥ Grease
4. ® Teflon

Question Number : 199 Question Id : 9679471817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Prafee & 3 B 1 ol 31 Dew @-Tirs gt &
Options :

1. % UBIge

2. % I

3. U9

4. % CHRAA

Question Number : 200 Question Id : 9679471818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT daily maintenance schedule for motor given by ISI?

Options :

1. # Examine visually earth connections and motor leads.

2. % Examine oil in the case of oil ring lubricated bearings for contamination by dust, grit, etc
3. # Check motor windings for overheating.

4. ® Examine control equipment.

Question Number : 200 Question Id : 9679471818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 & 91 Hiex & fog 3118, T4, 3M1s. (1SI) gRT fAfEy S I@RWTa 3 H (daily maintenance schedule) Tl 82

Options :
1. % MBI TG Y Y-HUDH (carth connection) R AR A & o d BT




2.+ 4, e 3n1fe @ gi¥d 811 &1 Udl A & Tt {1 R gfaidhe s o o &9 | ad &t Sid =1
3. % JaeIfeT o foru dier s &1 Sifg =1

4. % TYUFAUT JUBRT (control equipment) D1 STiel BT |



